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1000
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2000

1000

TVC(cbch) (0,0,0)

A1,

130e+U4 /25
4141+ 0.0
-34.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,0,4

- i, 634e+04 / 25
e pO 4182+ 0.0
pl -34.44 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 0,8

1 nuiL pbye+ud / 25
uase pO 4241+ 0.0
pl -37.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,0,12

T nun, 13ze+04 [ 25
- po 4244+ 0.0
pl -36.14 + 0.00

TP delay [ns]
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2000

1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1)

A

Fomee po

p1

L, rsve+u4 [ 25
4146+ 0.0
-34.45+ 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

T Zoe+ud [ 25
[Foees DU 4186+ 0.0
Pl 34743000

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 0,9

T g 3pbe+u4 / 25
= pO 4243+ 0.0
pl -35.91: 0.00

TP delay [ns]

TVC(C, bch) (0,0,13

~ 1 nug ysse+ud / 25
4257+ 0.0
-35.43+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (0,0,2)

IS

[Froeee po

p1

1 nuiLy14e+U4 / 25
4148+ 0.0
-34.34 + 0.00

TP delay [ns]

TVC(cbch) (0,0,6

FC=29.99 [ps/ch] ™. 7

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

1000

-1 nug bybe+u4 / 25
[Fomee pO 4179+ 0.0
[ PL_ -33.34%0.00

© 1 nuz, 1pge+u4 / 25
™. DO 4265+ 0.0
L -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0,0,14

T nun, 11ye+ud / 25
4242+ 0.0
-35.11+ 0.00
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50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (0,0,3)

AT rnuiLBlye+ud [ 25

Fomee po

p1

4147+ 0.0
-33.69+ 0.00

[ C =29.68 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

~ U ggbe+u4 / 25
o, pO 4205+ 0.0
pL -34.69 + 0.00

[ C =28.82 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T bzbe+u4/25
- p0 4272+ 0.0
pl -35.62.+ 0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T 1, bage+u4 [ 25
= 4245+ 0.0
-34.42  0.00

[ C =29.05 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
A7 1 nun ss0e+u4 / 25 AT rnunLsrse+ud [ 25 AT inuiL 3/ re+V4 /25 AT rnuiLo14e+u4 /25
4000 e, PO 4186+ 0.0 4000 o, po 4195+ 0.0 4000 __- po 4217+ 0.0 4000 e po 4218+ 0.0
pl -34.39+ 0.00 pl -35.22+ 0.00 r pl -36.15+ 0.00 pl -36.27 + 0.00

- 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0.1,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

S 24::9+UA 125 T rnar 21de+u4/25 S l)bbe+U4 125 T nar b)szH)4/25
4000 fom pO 4210+ 0.0 4000 Fem, pO 4218+ 0.0 4000 fme, pO 4232+ 0.0 4000 s pO 4235+ 0.0
Pl 3461+ 0.00 Pl 34,663 0.00 [ PL_ -35.39+ 0.00 Pl -34.61% 0.00
3000 g 3000 - a000f ] 3000 - -
2000 E 2000 E 2000[ b 2000 - g
[~ _ ] ] 1000 = e [ ]
woF C = 28.90 [ps/ch] ™, 1000 [ C=28.26[ps/chly, 7 ok C = 28.89 [ps/ch]™_
1 1 - [ 1 1 -4 1 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(0,1,8) TVC(Ee=(0,1,9) TVC(eh.eh=(0, 1, 10) TVC(ebe)=(0, 1, 1)
~ 1 nu, 1pbe+ud / 25 T g, uye+u4 [ 25 ~ 1 nu5yoe+u4 / 25 T 33be+04 [ 25
4000 pO 4213+ 00 4000 pO 4229+ 00 4000 DO 4247+ 00 4000, p0 4246+ 0.0
Pl 3521+ 0.00 Pl 34483000 L PL_ -3545% 0.00 Pl 3547000

3000

-1 3000 - 3000 -1 3000 -1

2000 2000 4 2000 E 2000

1000 - 1000

1000 C = 29.00 [ps/ch]

- 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(0112) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
T pyle+ud /25 T onazuse+ud [ 25 TrnuiLyrie+u4 /25 <1 nui sboe+ud / 25
4000 fm, pO 4266+ 0.0 4000 [, pO 4272+ 0.0 4000 fm, PD 4256+ 0.0 4000 fe pO 4266+ 0.0
pl -37.22+ 0.00 pl -37.94+ 0.00 I pl -36.98 + 0.00 pl -37.09 + 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000
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50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

A~ 1 nui yse+ud 25
= po 4204+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(cbch) (02,4

T 1 p3e+ud [ 25
- pO 4187+ 0.0
p1 -35.81+ 0.00

50 5
TP delay [ns]

TVC(eb,oh)=(0, 2,8

- bose+ud [ 25
- po 4229+ 0.0
p1 -35.78:+ 0.00

TP delay [ns]

TVC(Cbch) (o, 2 12

-1 2 Joe+ud [ 25
= po 4247+ 0.0
p1 -36.88+ 0.00

TP delay [ns]
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1000
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AL (aze+U4 ] 25
' po 4198+ 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c,b ch) (0 2,5

“ i 1bBe+u4 [ 25
pO 4206+ 0.0
p1 -36.67+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 2,9

Tinaiyz1e+u4 /25
pO 4261+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 2 13

Tinuz1rse+ud [ 25
pO 4232+ 0.0
pl -36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000
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2000
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1000

TVC(cbch) (0,2,2)

X~ 1L bzye+u4 [ 25
-, po 4214+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

Tanun 17 re+u4 [ 25
-, pO 4204+ 0.0
[ p1 -36.44 + 0.00

3000

TP delay [ns]

TVC(CbCh) (0, 2 10

1000

© 1 nuig.404e+04 / 25
-, po 4262+ 0.0
L pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2 14

S rnug1z1e+04 [ 25
-, pD 4248+ 0.0
L pl -37.24.+ 0.00

3000

TP delay [ns]
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1000
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1000

TVC(cbch) (0,2,3

AT 1 nuiLy1se+u4 / 25
P, po 4223+ 0.0
pl -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 nun B3ye+u4 / 25
- pO 4231% 0.0
p1 -37.31% 0.00

50 100
TP delay [ns]

TVC(eheh=(0, 2,

ERALEVX b/‘Je+U4/25
- po 4260+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 2 15

T nuiLyroe+ud [ 25
= pO 4247+ 0.0
p1 -37.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0

K™ 1nuiLoroe+ud /25
., po 4202+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (0,34

- i 3zoe+04 [ 25
pO 4190+ 0.0
p1 -34.94 + 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (O 3,8

T a2 yole+u4 | 25
pO 4224+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (0,312

T rnuizusse+ud | 25
pO 4259+ 0.0
pl -36.86 + 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (0,3,1

x- 1 L bude+U4 | 25
P po 4201+ 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

=1 nuiL 4ybe+04 [ 25
pO 4195+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 3,9

T nai fbae+ud [ 25
po 4238+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

T inai rsae+ud [ 25
pO 4250+ 0.0
-35.28 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000
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2000

4000

2000

1000

TVC(cbch) (0,3,2)

1000

A~ 1nuiLoroe+ud /25
- po 4214+ 0.0
o pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

“ i 710e+04 / 25
-, pO 4214 0.0
3 pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 3 10

1000

1 nuzgove+u4 [ 25
- po 4248+ 0.0
- pl -35.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

~1nuiLgu4e+U4 [ 25
- pD 4270+ 0.0
L pl -36.42+ 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

AT 1L rzse+u4 [ 25
po 4226+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

-1 nui buye+u4 / 25
pO 4227+ 0.0
pL -35.61+ 0.00

TVC(c,b ch) (0, 3

TP delay [ns]

Ty a/e+u4/25
po 4257+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(C, bch) (03,15

T inuiprye+ud [ 25
pO 4266+ 0.0
p1 354+ 0.0

TP delay [ns]
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4000
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2000

1000

TVC(cbch) (0,4,0)

' po

X~ 15 se+U4 /25

pl -37.13+ 0.00

4205+ 0.0

TP delay [ns]

TVC(cbch) (04,4

-1 bzze+u4 | 25
= pO 4201% 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

©1nuiz.4y3e+u4 [ 25
- po 4222+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T L yspe+u4 / 25
= po 4230+ 0.0
pl -36.56 + 0.00

TP delay [ns]
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1000

TVC(cbch) (0,4,1

x- 1 L Bsae+U4 | 25
P, po 4186 + 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= nuiL7use+ud [ 25
== po 4204+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

~ 1 nai 3bye+ud / 25
- po 4237+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,4,13

T inuiLgrye+ud [ 25
4238+ 0.0
-36.51+ 0.00

TP delay [ns]
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1000
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1000
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2000

1000

TVC(cbch) (0,4,2)

A7 1 nuiLsoae+u4 /25
po 4222+ 0.0
pl -38.18 + 0.00

TP delay [ns]

TVC(cbch) (04,6

-1 nurLgbze+u4 [ 25
pO 4225+ 0.0
pl -38.05+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

© 1z, rgve+u4 | 25
. po 4259+ 0.0
- pl -35.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,4,14

~1nuiLysse+u4 / 25
4229+ 0.0
-36.8 + 0.0
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1000
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1000

TVC(cbch) (0,4,3)

AT 1nunz14e+04 1 25
- po 4228+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

= 1 nuz Oble+ud / 25
= po 4219+ 0.0
pl -37.28 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

EEALEVX usze+u4/25
- po 4266+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (04,15

Tonane 1 B1e+ud [ 25
- pO 4237+ 0.0
p1 -37.57 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,0)

T gsze+ud /25
4177+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(cbch) (05,4

- 1 nuiL0Ype+ud / 25
4192+ 0.0
-35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 58

T nuz31ge+u4 [ 25
= po 4182+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

T rnuiLbrse+ud [ 25
== po 4196+ 0.0
pl -34.81+ 0.00

TP delay [ns]
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TVC(cbch) (0,51)
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AT 1 nuzuz4e+u4 [ 25
4177+ 0.0
-37.67 + 0.00

TP delay [ns]

TVC(c,b ch) (0 55

-1 nui 343e+04 / 25
4182+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

T nuy.zoze+ud [ 25
po 4202+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,13

T nuiLo3oe+ud / 25
pO 4202+ 0.0
pl -34.68 + 0.00

TP delay [ns]
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1000

TVC(cbch) (0,5,2)

=, PO

AT inuizise+u4 /25
4183+ 0.0
-36.84 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

T 3r3e+04 [ 25
4192+ 0.0
-36.03 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

©1nuzpage+u4 | 25
4225+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (0,5,14

~ 1 nuiLbEYe+u4 / 25
-, pD 4206+ 0.0
L p1 -35.65+ 0.00

3000

TP delay [ns]
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TVC(c,b ch) (0,5,
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e po
pL

3

nuiL,Zuoe+u4 / 25
4184+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 57

-

nui /uae+u4 / 25
4203+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 5

T UbE+U4/25
= po 4219+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

T nai/1se+ud [ 25
= pO 4204+ 0.0
p1 -35.19+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,6,0)

A1

- p0
pl

o/e+u4 /25
4207+ 0.0
-36.58 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

=/ nuig,

pO
pL

bb3e+u4 / 25
4196+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(cbch) (O 6,8

pO
p1

Srnu34re+u4 /25
4214+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(eb.ch)=(0,6, 12

i

po
p1

ze+V4/25
4224+ 0.0
-35.02+ 0.00

TP delay [ns]
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4000
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1000

TVC(cbch) (0,6,1)

[ po

AT 1 nuiLbzoe+u4 [ 25
4198+ 0.0
-36.01+ 0.00

pL 3

TP delay

TVC(c,b ch) (0 6,5

[ns]

S nun1b1e+ud /25
4180+ 0.0
pl -35.32+ 0.00

TP delay

TVC(c,b ch) (0 6,9

[ns]

T inuiL1/3e+U5 /25
4229+ 0.0
-36.4 + 0.0

1
50 00

TP delay

TVC(c,b Ch) (0, 6 13

- pO
p1

[ns]

Tonan 1 B3e+ud [ 25
4217+ 0.0
-35.2+ 0.0

TP delay

[ns]

4000
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1000

4000

3000

2000

4000

3000
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1000

1000

0

TVC(cbch) (0,6,2)

. po

pl

K™ 1nuiL 4yse+ud | 25
4203+ 0.0
-35.74 £ 0.00

TP delay [ns]

TVC(cbch) (06,6

- 1L Bloe+ud / 25
4198+ 0.0
-35.95+ 0.00

= PO

i o

L C = 27.82 [ps/ch .
o+ o

TP delay [ns]

TVC(eb,ch)=(0, 6, 10

F= F’O

-1 iU z98e+u4 [ 25
4254+ 0.0
-37.24+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,6,14

s,

- 141e+U04 /25
4221+ 0.0
pl -35.89+ 0.00

TP delay [ns]
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1000
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TVC(c,b ch) (0,6,

A

e po
pL

3)

nur 1ole+ud / 25
4220+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-

- pO
p1

nuiz,u1/e+u4 [ 25
4195+ 0.0
-34.98 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 6

ERALEICK bwe+u4/25
4267+ 0.0
-37.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0,6,

X1

15

nuiL, ry1e+u4 / 25
4222+ 0.0
-35.62+ 0.00

TP delay [ns]
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1000

0

4000
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1000

TVC(cbch) (0,7,0

A7 1 nun oyze+u4 /25
- po 4202+ 0.0
pl -37.52 0.00

TP delay [ns]

TVC(cbch) (07,4

- 1 nuiLy4ye+u4 / 25
4222+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T, fo3e+U4 | 25
4235+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,7,12

T i, rsve+u4 | 25
4222+ 0.0
-34.61+ 0.00

TP delay [ns]
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4000
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1000

4000
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1000

TVC(cbch) (0,7,1

AT 1 nuiLblye+ud /25
P, po 4213+ 0.0
pl -37.81+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nuiL g /e+u4 / 25
- pO 4225 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nup.yzie+ud / 25
- pO 4244+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

Tinai s1e+ud [ 25
= pO 4239+ 0.0
pl -36.63+ 0.00

TP delay [ns]
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2000

1000

TVC(cbch) (0,7,2)

AT 1nui rs1e+04 /25
po 4235+ 0.0
pl -38.09 + 0.00

TP delay [ns]

TVC(cbch) (0,7,6

- nug 115e+04 / 25
- pO 4225+ 0.0
[ pl -35.41% 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

© 1 nug.u4pe+u4 | 25
= po 4259+ 0.0
- pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T rnuiLg41e+04 /25
F-. pD 4240+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3)

T Lyie+ud /25
- pO 4233+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

Crnan z219e+u4 [ 25
- pO 4220+ 0.0
p1 -34.81% 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

AR ba::e+u4/25
4262+ 0.0
-37.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (07,15

Tinairb/e+ud [ 25
e pO 4252+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

AT 1nuio4/e+04 /25
., po 4216+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (08,4

- i bz4e+u4 [ 25
pO 4219+ 0.0
pl -35.07:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
T nug bzge+u4 5
- po 4239:‘
pl -36.55+ 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

Tz syze+u4 | 25
pO 4257+ 0.0
pl -37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

A-muiLarierud ] 25
e po 4201+ 0.0
pL -35.06+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

=11 bgbe+u4 / 25
- pO 4213+ 0.0
p1 -34.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

T nuy, 715e+U4 / 25
= po 4255+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

Tinuig1ze+ud [ 25
= pO 4267+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

K™ 1 nuiouoe+u4 / 25
__— po 4214+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

-1z, 0oge+u4 / 25
- pO 4235+ 0.0
[ pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

-1 nuw,1ise+ud [ 25
= DO 4283+ 0.0
L pl -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

~ 1 nuiz,uzoe+u4 | 25
- pD 4265+ 0.0
L pl -37.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT Loy re+ud [ 25
- po 4232+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui Ysae+u4 [ 25
pO 4241+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

EREALER auue+u4/25
- po 4276+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

T nuizylve+ud [ 25
= pO 4257+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

A~ 1 nui rute+u4 [ 25
= po 4184+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(cbch) (0,9,4

i 716e+04 [ 25
== po 4182+ 0.0
pl -35.51+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (O 9,8

-z bove+ud [ 25
po 4217+ 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T zae+ud /25
= po 4222+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

T/ Lboe+ud /25
., pO 4180+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

S nun183e+04 /25
4200+ 0.0
-35.4 + 0.0

50 150
TP delay [ns]

TVC(c,b ch) (0 9,9

T nuigane+u4 [ 25
= po 4213+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 9 13

~ 1 nuiL ogye+ud / 25
- pO 4198+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

T Love+ud /25
-, pO 4200+ 0.0
L p1 -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- rnuLy13e+u4 / 25
- pO 4200+ 0.0
[ pl -35.78 0.00

TP delay [ns]

TVC(eb,oh)=(0, 9, 10

- 1 i s39e+U4 | 25
= pO 4249+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

- i (3ye+ud [ 25
- pD 4209+ 0.0
[ pl -34.24.+ 0.00

- C = 29.21 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

A~ 1 nuiLbb3e+ud / 25
- po 4202+ 0.0
pL -35.58:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

< U Z19e+u4 [ 25
= po 4217+ 0.0
p1 -36.76 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (0, 9

T zuse+u4/25
- pO 4247+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 9 15

T nai ro3e+ud [ 25
4225+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.21 [ps/ch]

T Lo se+u4 [ 25
™ pO 4209+ 0.0
-34.24 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

=i gbze+ud [ 25
e, pO 4226+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T zz/e+04 /25
= po 4215+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

Tz sore+u4 [ 25
= po 4261+ 0.0
pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.07 [ps/ch]

AT rnuLolze+ud [ 25
e, po 4206+ 0.0
pl 344+ 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

=1 Uz uobe+u4 / 25
- pO 4234+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

T nug gg/e+u4 [ 25
= po 4233+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (010,13

T nuiLyule+ud / 25
- pO 4254+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

Tz 10/e+u4 [ 25
- pO 4236+ 0.0
[ pl -36.82+ 0.00

A7 1 nui osse+ud / 25
. po 4215+ 0.0
L pl -34.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

T nuig.4s8e+U4 / 25
=, po 4255+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

~ 1 nuiz,uyse+ud | 25
- pD 4263+ 0.0
L pl -36.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1 nuiL430e+ud [ 25
o po 4229+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

-1 nuz 30Ye+u4 / 25
- pO 4259+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(cbch) (o, 10 1

T nuz.a/9e+u4 [ 25
- pO 4250+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nuizu4ze+ud [ 25
= pO 4257+ 0.0
p1 -37.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

X~ 1L brve+u4 [ 25

_—- po 4159+ 0.0
p1 -34.72:+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

- 1 i 48be+04 | 25
™, pO 4165+ 0.0
pl -34.15+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T nuizuzze+u4 | 25
= po 4188+ 0.0
pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 1 su4e+ud [ 25
- po 4214+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 11 1)

“ a1 4se+ud [ 25
== pO 4161+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

=1 nui 4n9e+04 / 25
e, pO 4191% 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 9

T nup,s11e+ud | 25
= po 4210+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

1 nuiLbboe+ud / 25
- pO 4207+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nui pobe+ud / 25

= pO 4176+ 0.0
L p1 -35.17 £ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

S rnun 1 81e+u4 /25
- pO 4213+ 0.0
[ pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1wz 3y1e+04 [ 25
bese, po 4199+ 0.0
o pl -34.36 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X1 sz1e+04 [ 25
pee. po 4218+ 0.0
L p1 -36.14+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuiLbare+ud [ 25
poes, po 4185+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(cbch) (0,11,7

- nui use+u4 / 25
e, pO 4197 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- T nuiz.yroe+u4 [ 25
= po 4215+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

T nui b4oe+u4 / 25
= pO 4212+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

TrnwiLgr1e+04 /25
.. pO 4209+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0,124

T 144e+04 /25
pO 4218+ 0.0
pl -37.86+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

1 nuz.yope+u4 | 25
= po 4205+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0,12,12

Tz zove+u4 | 25
= po 4221+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(chh) (0,12,1)

3000

2000

1000

AT 1nuiLb/ze+u4 [ 25
4000 [ po 4218+ 0.0
pl -37.75+ 0.00

TP delay [ns]

TVC(cbch) (0,125

4000 S

3000

2000

1000 [~

=1 nui buge+u4 [ 25
pO 4210 0.0
pL -37.31% 0.00

TP delay [ns]

TVC(Ebeh)=(0, 12,9

4000 [

3000

2000

1000

~ 1 nuiLuzse+us / 25
po 4225+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(cbch) (012,13

4000 [

3000

2000

1000

T nuiz zgye+ud [ 25
pO 4223+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (o, 12 2)

T rnuiLprze+ud [ 25
_- pO 4214+ 0.0
L pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

- 1nuz,ulbe+ud / 25
- pO 4214 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T 1nug1yze+u4 | 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

~1nuizguse+ud | 25
- pD 4230+ 0.0
[ p1 -35.84+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1L bbse+ud [ 25
- po 4239+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

S nunz.1ge+ud [ 25
- pO 4241+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

T nuig.usbe+u4 / 25
= pO 4251 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

"1 nuizyble+ud / 25
= pO 4230+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

-1 nu, (3ae+04 [ 25
4217+ 0.0
p1 -36.06 + 0.00

TP delay

TVC(Cbch) (o, 13 4

[ns]

-1 34ze+04 [ 25
4236+ 0.0
-37.13+ 0.00

= pO

pl
- C N

55 A
TP delay [ns]
TVC(c,b, ch) (0, 13 8)

S i 4.09e+04 /25
- pD 4263:‘

pl -34.56 + 0.00
[ C=28.94[ps/ich] ™, 1

TVC(chh) (0,13,1)

4000 [ po

AT 1wz, (29e+u4 | 25
4215+ 0.0
p1 -37.01# 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 13 5

4000

[ns]

-1 nuz.uyse+u4 / 25
4239+ 0.0
pl -37.17 + 0.00

3000

2000

1000

TP delay

TVC(eb.oh)=(0, 13,9

4000 e DO

[ns]

-1 nuw.uybe+ud / 25
4286+ 0.0
-34.58 + 0.00

3000

2000

1000 C = 28.92 [pS/Ch]

0

50

1
100

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

ALY uazeﬂm 125
4000 [ pO 4252+ 0.0
pl -34.57 + 0.00
3000 - 71
2000 - 7
0= C = 28.92 [ps/ch] ]
-
-
-
PR R B
50 100

TP delay [ns]

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (0, 13 13

T inuig zsbe+ud [ 25
4253+ 0.0
-35.91+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(CbCh) (o, 13 2)

- 50

-~ nugprae+ud [ 25
4221 0.0
p1 -35.65+ 0.00

TP delay

TVC(Cbch) (o, 13 6

[ns]

-1 bo3e+ud [ 25
4261+ 0.0
pl -37.35+ 0.00

P~ b
F C = 26.77 [ps/ch .
= 100 i
TP delay [ns]

TVC(eb,eh)=(0, 13, 10

: )
1 nuy ssbe+u4 [ 25
- po 4305+ 0.0
[ p1 -34.85+ 0.00
- C =28.70 [ps/ch]™, 1

50

1
100

TP delay [ns]

TVC(CbCh) (o, 13 14

4000

3000
2000

1000

= 1 i, 3o9e+u4 [ 25
- pD 4251+ 0.0
[ pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

A~ 1 nuig.uZse+ud [ 25
4241% 0.0
pL -37.33+ 0.00

TP delay

TVC(c,b Ch) (0, 13 7

- pO

[ns]

S rnugse+ud /25
4252+ 0.0
p1 -36.67+ 0.00

50 160
TP delay

TVC(Cbch) (0, 13 11

- pO

[ns]

T nug. rg3e+u4 [ 25
4304 £ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 15

- s 2ube+ud [ 25
e, pO 4269+ 0.0
p1 -36.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,0)

T Lo roe+u4 [ 25
4183+ 0.0
pl -36.57 + 0.00

TP delay

TVC(cbch) (0,144

[ns]

T i r1ze+04 [ 25
4204+ 0.0
-34.77 + 0.00

= pO
pl
e ]
1 1 -
50 T00
TP delay [ns]
TVC(c,b, Ch) (0, 14 8)
T 3z1e+u4 [ 25
= pO 4204+ 0.0
Pl -35.49: 000

TP delay

TVC(cbch) (0,14,12

e, po
p1

[ns]

Tz ie+u4 /25
4224+ 0.0
-36.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,1)

X~ un 1.658+U4 ] 25
- po 4196+ 0.0
pl -35.9+ 0.0

TP delay [ns]

TVC(c, bch) (0,14,5

PSRl

10be+u4 | 25
4208+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (0,14,9

== pO

pl

T nun.able+ud [ 25
4220+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(cbch) (014,13

= pO

~ 1 nuiLsube+ud / 25
4227+ 0.0
-36.49+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,14,2)

- PO

A7 1 nuiozse+u4 /25
4201+ 0.0
pl -35.99 + 0.00

TP delay

TVC(cbch) (0.14,6

pO
pl

[ns]

- 1nuiLbale+ud / 25
4207+ 0.0
-34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

- DO

[ns]

T 1nuzplze+u4 | 25
4233+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (0.14,14

- DD

[ns]

~ 1L ypse+ud / 25
4241+ 0.0
pl -37.27+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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I C =26.88 [ps/c 7

TP delay [ns]

TVC(cbch) (16,4

~ 1 nuiL b3ze+u4 [ 25
[, pO 42214 0.0
Pl -36.85: 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 6,8

T zgoe+u4 [ 25
- pO 4222+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,6,12

~1nuiLyg4e+u4 / 25
= PO 4232+ 0.0
pl -37.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1

AT 1 nuiLys4e+u4 [ 25

==, PO 4198 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

V”Ulibde+04/25

F DU 4218+ 00

36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

== pO

11ug. fo4e+u4 [ 25

pl -35.32+ 0.00

4242+ 0.0

TP delay [ns]

TVC(C, bch) (1,6,13

1L y34e+u4 [ 25

- po 4229+ 00
pl -36.54 + 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,6,2)

1000

X~ 1L yioe+U4 /25
e, PO 4205 0.0
I pl -37.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (16,6

T a5 /ye+04 [ 25
- pO 4221 0.0
3 PL_ -35.74%0.00

TP delay [ns]

TVC(cbch) (1, 6 10

©1nuz 20ze+04 1 25
=, DO 4257+ 0.0
X -35.1+ 0.0

TP delay [ns]

TVC(cbch) (1,614

- i S e+04 ] 25
I pD 4223+ 0.0
r pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3

- PO 4213% 0.0
pl -35.97 + 0.00

AT 1L ryse+ud [ 25

TP delay [ns]

TVC(c,b ch) (1 6,7

PO 4220+ 0.0
pL -35.19.+ 0.00

/nulibbe+04/25

TP delay [ns]

TVC(c,b ch) (1, 6
e pO

pl -34.77 + 0.00

(AL a55e+u4/25
4247+ 0.0

TP delay [ns]

TVC(C, bch) (1,6,15

= po 42154 0.0
pl -36.27 + 0.00

a2 yode+ud | 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0)

AT nunssze+04 /25
. po 4186+ 0.0
pl -35.52 0.00

TP delay [ns]

TVC(cbch) (17,4

- 14 8e+04 [ 25
= pO 4198+ 0.0
pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1,7,8

1nuz.ys4e+u4 | 25
4220+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,7,12

T Ly re+u4 / 25
= po 4228+ 0.0
pl -35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

x- 1 iz Quae+ud | 25
Fee,, po 4203+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= nui7z1e+04 / 25
== po 4196+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

~ 1 nuw.p44e+04 / 25
= pO 4221+ 0.0
pl -35.83 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,13

T inuip4/e+u4 /25
= pO 4230+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

K™ 1nui roae+04 /25
P, po 4196+ 0.0
L pl -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

-1z, 0b4e+u4 [ 25
- pO 4239+ 0.0
[ pl -37.09 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

©1nuzg3ve+u4 | 25
= po 4229+ 0.0
L pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T 1ooe+ud /25
- pD 4224+ 0.0
L pl -35.53+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT rnuzouse+ud [ 25
po 4213+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(cbch) (17,7

~ 1 nu.244e+04 | 25
pO 4222+ 0.0
pL -37.39+ 0.00

TVC(c,b ch) (1, 7

50 100
TP delay [ns]

1)
T nuizlse+ud [ 25
po 4240+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T nuiagye+ud [ 25
po 4232+ 0.0
p1 -35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

T zuse+ud /25
P pO 4174+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (18,4

T L4 e+V4 [ 25
pO 4214 0.0
pl -37.91+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

1z 1v4e+04 [ 25
= po 4205+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T, ruse+u4 / 25
= po 4240+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,1)

AT 1 nuiz Lioe+ud [ 25
oo, po 4202+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

= nui 319e+04 / 25
== po 4206+ 0.0
pl -37.44 % 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

~ 1 nu.ysse+ud / 25
= po 4232+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T inuiLorae+ud [ 25
- pO 4221+ 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

A~ nuzugze+04 /25
- po 4205+ 0.0
L pl -36.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

T bz/e+V4 [ 25
- pO 4209+ 0.0
[ pl -37.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

©1nuzplae+ud [ 25
= po 4243+ 0.0
- pl -36.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T glie+ud /25
- pD 4239+ 0.0
[ p1 -37.14+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT rnuzzuie+ud [ 25
- po 4209+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= rnui 731e+04 / 25
= po 4210+ 0.0
pl -37.24+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

EEALEVX u/5e+u4/25
= po 4237+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nai r3ve+ud [ 25
= pO 4239+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



TVC(cbch)(190) TVC(cbch)(lQl) TVC(cbch)(192) TVC(cbch)(193)
K™ nuisuie+ud /25 AT 1 nuiL rooe+ud [ 25 A7 1 nui osoe+ud / 25 AT rnuiLyare+ud [ 25
4000 4196+ 0.0 4000 fmm,, pO 4206 0.0 4000 e, PO 4202 0.0 4000 PO 4236+ 0.0
-36.21+ 0.00 pl -35.92+ 0.00 : pl -36.32 i_0.00 pl -38.17 + 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,94 TVC(cbch) (19,5 TVC(cbch) (19,6 TVC(c, bch) (19,7

- i z2u3e+04 / 25 - bzye+ud [ 25 T b ye+u4 [ 25 =1 nui buse+u4 / 25
4000, pO 4211+ 0.0 4000 e, pO 4224+ 0.0 4000 e pO 4231 0.0 4000 e, pO 4235+ 0.0
pl -36.36 + 0.00 pL -36.82.+ 0.00 3 pl -37.04+ 0.00 pL -36.13+ 0.00
3000 1 3000 B 3000 [~ B 3000 4
2000 4 2000 - 2000~ - 2000 - -
1000 - 1000 - 1000 r C=27.00 [pS/Ch ] 10001 C -
: . ] -
L - b
0, 0, 0, 1 1 1
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 9 8) TVC(c,b Ch) (1, 9 ) TVC(c,b, Ch) (1, 9 10) TVC(c,b Ch) (1, 9 1)
1 nuiL pbbe+ud / 25 -y ubse+u4 [ 25 T rnuzgbe+u4 [ 25 T 1.9ye+u4 [ 25
4000 e pO 4182+ 0.0 4000 pO 4214 0.0 e DO 4232+ 0.0 4000 P, 4223+ 0.0
-34.03% 0.00 Pl -34.76% 0.00 b PL_ 3568+ 0.00 -34.23% 0.00

- 3000

3000~ 1 3000 - 3000

2000~ E 2000 . 2000 2000 -

- 1000 E 1000

w0k C = 29.39 [ps/ch] wob C =29.21 [ps/chI\, 1

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
0 50 100

TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
~ 1L pose+ud / 25 Tinun L ooe+ud [ 25 ©1nuiLguBe+U4 / 25 T nui poze+ud [ 25
000 b, pO 4208+ 0.0 4000 fo, pO 4196+ 0.0 4000, PD 4202+ 0.0 4000 o, 4210+ 0.0
pl -34.85+ 0.00 pl -34.25+ 0.00 I pl -35.41+ 0.00 -34.37 + 0.00

3000

T 3000 - 3000 T 3000 = -1

2000 B 2000 - 2000 2000

1000 1000

1o C = 29.20 [ps/ch] ] o C = 29.10 [ps/ch] §

PR BRSNS |
50 100

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

© L byoe+u4 [ 25
e pO 4198+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 4

- iU 563e+U4 [ 25
== po 4186+ 0.0
pl -34.54 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

- iz yZ0e+ud | 25
e, pD 4231 0.0
p1 -37.36+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

- i pl7e+ud [ 25
= po 4225+ 0.0
-33.99 + 0.00

[ C =29.42 [ps/ch]

P R |
50 100

TP delay [ns]

TVC(chh) (1, 10 1)

3000

2000

1000

- i odae+Ud 25
4000 . pO 4215+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 5

4000 (S

3000 -

2000

1000 [~

T nun 1 ohe+04 /25
po 4187+ 0.0
pl -35.22 + 0.00

50 150
TP delay [ns]

TVCEbeh)=( 1, 10,9

4000 [

3000

2000

1000

T inug.z1ve+ud [ 25
pO 4237+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 13

4000 &,

3000 -

2000 -

Tinuiayle+ud [ 25
4229+ 0.0
-33.03+ 0.00

00 C = 30.27 [ps/ch]

PR
50

il
100

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

1000

X~ 1 1L bove+u4 [ 25
-, po 4202+ 0.0
L pl -35.03+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 10 6

© i plze+u4 / 25
- pO 4206+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

TVC(epeh)=( 1, 10, 10

1000

0

i z.zfevud 125
- pO 4254+ 0.0
[ pl -36.55+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 14

- 1ygerud /25
- pD 4230+ 0.0
L pl -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

A~ 1 nuiLblse+ud / 25
- po 4199+ 0.0
pL -34.71+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 7

= 1 nui b29e+ud | 25
= po 4219+ 0.0
p1 -35.81+ 0.00

50 160
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

-1 nuiz 1bge+u4 / 25
= po 4279+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

- i ude+ud [ 25
= 4214 0.0
-33.76 + 0.00

[ C=29.62 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 zae+04 /25
o= po 4202+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (1,114

- 1 i bgbe+ud / 25
- pO 4207+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

Ty zr3e+04 [ 25
= po 4229+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

K71 nui yzze+u4 /25
po 4242+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1 nuzupse+ud [ 25
.. po 4212+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (1,11,5

-1 nun gz3e+u4 [ 25
- pO 4203 0.0
pL -36.13+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

<1 nuiL ybse+us / 25
= po 4256+ 0.0
p1 -37.69+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inui gsze+ud [ 25
pO 4240+ 0.0
pl -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 11 2)

TP delay [ns]

TVC(cbch) (1,116

1000

~1nu,1o4e+04 / 25
- pO 4227+ 0.0
L pl -37.42+ 0.00

3000

- rnuLy4l1e+ud / 25
- pO 4223+ 0.0
[ pl -36.21+ 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1 nuig ygze+u4 / 25
= po 4273+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

K™ 1 nuiLyzie+u4 /25
- po 4236+ 0.0
L pl -37.4% 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1L yooe+ud [ 25
- po 4229+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

S rnan z.u4e+04 [ 25
- pO 4232+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

~ 1 nuiz fbYe+ud [ 25
- po 4276+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (111,15

-1 nuiz.usoe+ud / 25
e po 4246+ 0.0
p1 -37.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T o/e+ud /25
P pO 4156+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

-1 394e+04 / 25
= pO 4174+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

T z.zze+04 /25
4199+ 0.0
-35.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

~ i bo8e+U4 / 25
pO 4196+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nuiLbsse+ud /25
peoe.. po 4165+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (1,125

-1 nui base+ud [ 25
o pO 4187+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

T nug. 7Use+u4 / 25
- pO 4204+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (112,13

- T nui s4ve+ud [ 25
- pO 4193 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

AT 1nun 4se+04 /25
- po 4175+ 0.0
L p1 -34.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

-1 b3ve+04 [ 25
4185+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

T rnubole+ud [ 25
= po 4225+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (112,14

T ro1e+u4 /25
pD 4210+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

A” 1 L bd4e+U4 | 25
pe=. po 4181+ 0.0
p1 -34.52:+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

- nun 1 p8e+ud [ 25
- pO 4200+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

T nui g1ze+u4 [ 25
= po 4217+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- -1 naiyuze+ud [ 25
po 4197+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

“inun.419e+U4 / 25
PO 4206+ 0.0
pl -37.64 + 0.00

TP delay [ns]

TVC(cbch) (1,134

Sy /1e+ud / 25
pO 4212+ 0.0
pl -35.32+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T nuiz4rpe+04 [ 25
- PD 4197+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

Tz 1yre+ud / 25
- PO 4253+ 0.0
pl -36.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

e, po

AT 1 nup.urve+ud [ 25
4206+ 0.0
pl -37.03+ 0.00

TP delay

TVC(c, bch) (1,135

= po

[ns]

S nunz.zze+04 1 25
4226+ 0.0
-35.7 + 0.0

50 1(;0
TP delay

TVC(c,b ch) (1,13,9

[ns]

T nug3rve+ud [ 25
4255+ 0.0
pl -34.86 + 0.00

TP delay

TVC(cbch) (113,13

b, pO
p1

[ns]

Tinuz1u/e+ud [ 25
4256+ 0.0
-37+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,13,2)

TP delay [ns]

TVC(cbch) (1,136

X~ 1 nuir 541e+04 /25
Fom, po 4206 £ 0.0
I pl -36.92+ 0.00

3000

- rnu312e+04 [ 25
- pO 4235+ 0.0
3 pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

- nug,sgoe+u4 / 25
F DO 4266+ 0.0
- PL_ -36.46% 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

T nuzuyle+ud / 25
- PD 4239+ 0.0
I pl -36.24 + 0.00
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TVC(cbch) (1,13,3)
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AT 1, zse+u4 [ 25
4228+ 0.0
p1 -36.41+ 0.00

TP delay

TVC(c, bch) (1,137

= pO

[ns]

- 1 301e+04 / 25
4241+ 0.0
pl -36.46 + 0.00

TP delay

TVC(ebeh)=(1, 13, 11

e, pO

[ns]

T inub1ze+u4 [ 25
4261+ 0.0
pl -36.03 + 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

-1 yobe+u4 / 25
4258+ 0.0
pl -37.17+ 0.00

TP delay

[ns]
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TVC(CbCh) (1, 14 0)

1 nun L pve+ud [ 25

pO 4202+ 0.0
p1 -36.91+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 4

T 1 pye+ud / 25
e pO 4179+ 0.0
p1 -35.98:+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 14,8

1 nuig. z49e+04 | 25

e, po 4175+ 0.0
-33.33 0.00

[ C =30.01 [ps/ch]

TP delay [ns]

TVC(c,b ch) (1, 14 12

1 i yoYe+u4 [ 25
e, po 4262+ 0.0
p1 -37.02:+ 0.00

TP delay [ns]

TVC(chh) (1,14,1)
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X1 nun Lose+ud [ 25
4196 + 0.0
pL -36.27+ 0.00
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TP delay

TVC(c,b Ch) (1, 14 5

4000 pO

pl

[ns]

- nui By re+u4 / 25
4193+ 0.0
-37.3+ 0.0
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2000 -

1000 C = 26.81 [pS/C

50 150
TP delay

TVCebeh)=( 1, 14,9

4000 pO

[ns]

T inai 48e+u4 25
4201% 0.0
p1 -35.19+ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (1, 14 13
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[ns]

T nuiLy4ye+ud [ 25
4255+ 0.0
-37.51+ 0.00
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[ns]
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TVC(CbCh) (1, 14 2)

TP delay [ns]

TVC(c,b ch) (1, 14 6

~ i prse+ud [ 25
Fe.. pO 4214+ 0.0
L pl -36.84 + 0.00

3000

_ -1 Ui bose+ud / 25
- pO 4177+ 0.0
[ p1 -36.66 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

- 11Uz yg4e+ud [ 25
o=, po 4225+ 0.0
o pl -34.96 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 14)

1000

s 90561725
- pD 4263+ 0.0
L pl -37.12+ 0.00

TP delay [ns]

TVC(Cbch) (1,14,3)

4000 fom po

pL 3

A1 nuiLbaye+ud | 25
4231+ 0.0
-37.21+ 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (1, 14 7

4000 o pg

[ns]

-1 nui yz1e+u4 / 25
4201+ 0.0
pl -36.34+ 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(eheh)=(1, 14, 11

4000 pO

pl

[ns]

~ 1 nuiz.usge+u4 / 25
4215+ 0.0
-34.41+ 0.00

3000 -

2000 =

lo00r C = 29.06 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (1, 14 15

4000

[ns]

<1 nui sboe+ud / 25
4257+ 0.0
-36.71+ 0.00

3000

2000

1000

P B TR |
50 100

TP delay

[ns]
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TVC(cbch) (1,15,0)

~ 1 nuz,usse+ud [ 25
- PO 4207+ 0.0
pl -38.09 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

- rnunLy13e+ud / 25
- pO 4226+ 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T nu s31e+u4 / 25
[ pO 4227+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T nuz,usse+ud / 25
- PO 4235+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(cbch) (1,15,1)

4000 e )

AT 1L ysze+ud [ 25
4210+ 0.0
pl -37.41+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,155

4000 fam, pO

pl

[ns]

S nun1.8ze+04 [ 25
4230+ 0.0
-36.34+ 0.00
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2000

1000 [~ C

50 1(;0
TP delay

TVC(c, bch) (1, 15 9

4000 jam, pO

[ns]

T inun, 13e+04 / 25
4261+ 0.0
pl -36.48 + 0.00
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1000

TP delay

TVC(cbch) (115,13

4000 [,

[ns]

Tz, uyze+u4 | 25
4231% 0.0
pl -35.54 + 0.00
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[ns]
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TVC(cbch) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

X~ 1z usse+ud [ 25
F po 4230 0.0
3 pl -38.31+ 0.00

3000

- i ro4e+04 [ 25
- pO 4231 0.0
3 pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

1000

0

T g 1ze+ud [ 25
= DO 4274+ 0.0
3 pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

T ss4e+U4 [ 25
- PD 4238+ 0.0
I pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,3)

= pO

ATz 1zse+u4 1 25
4219+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c, bch) (1,157

= pO

=1 nur buze+u4 / 25
4232+ 0.0
pl -35.41+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 15, 11)

= pO

S z3e+04 /25
4292+ 0.0
pl -36.44 + 0.00

TP delay [ns]

TVC(cbch) (1,15,15

T syse+u4 [ 25
4237+ 0.0
pl -35.33 + 0.00

TP delay [ns]
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A™1nuiLysie+ud /25
Frcea po 4208+ 0.0
pl -37.7+ 0.0

[ C =26.53 [ps/c ]

50 100

TP delay [ns]

TVC(cbch) (2,0,4

- rnu, 7gye+ud / 25
e pO 4194+ 0.0
p1 -34.84+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

©rnuz53ve+u4 | 25
4189+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

L yose+u4 / 25
= po 4208+ 0.0
pl -34.47 + 0.00
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AT 1 nuz.ubye+ud [ 25
Frase po 4223+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

= 1 Jose+u4 25
P pO 4197+ 0.0
-34.53+ 0.00

[ C =28.96 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

T nun.b1Ye+ud /25
= po 4202+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,13

T inuiz 148e+ud / 25
pO 4223+ 0.0
pl -35.76 + 0.00

TP delay [ns]
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_l'_ po 4216+ 0.0
o pl -36.61+ 0.00
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TP delay [ns]

TVC(cbch) (2,0,6

-1 U Bu4e+u4 [ 25
- pO 4215+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (2, 0 10

1000

0

T nuig,3goe+u4 / 25
e, po 4228+ 0.0
L pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

Tz 1zoe+04 [ 25
- pD 4220+ 0.0
L pl -35.19+ 0.00
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Pe-. po 4209+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

- nuay 1z8e+04 [ 25
- pO 4214+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (2, O

ERALEVX biée+l}4/25
= po 4237+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

Tonanz.3re+u4 125
= pO 4206+ 0.0
p1 -34.65+ 0.00

TP delay [ns]
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TVC(cbch) (2,1,0)

X~ g 5z8e+04 [ 25
4223+ 0.0
-40.36 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (21,4

- 1 938e+u4 [ 25
- po 4180 0.0
pl -35.41+ 0.00

- c =
% o
TP delay [ns]
TVC(c,b ch) (2, 1 8

Sl r1e+ud [ 25
po 4218+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

TVC(cbch) (21,12

- 1 nuizusoe+u4 [ 25
po 4207+ 0.0
p1 -35.07 + 0.00
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TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nuz.0a4e+04 [ 25
- po 4195+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (21,9

-t 1 se+Ud [ 25
pO 4245+ 0.0
pL -37.21+ 0.00

TP delay [ns]
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Tinanzive+ud [ 25
pO 4229+ 0.0
p1 -36.6 + 0.0
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© 1 nuiL8Yye+u4 / 25
e pO 4200+ 0.0
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TP delay [ns]

TVCebeh)=(2 1, 10

-1 i rSae+ud | 25
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[ pl -35.97+ 0.00
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TP delay [ns]
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=1 nui Yobe+u4 / 25
4199+ 0.0
-35.8+ 0.0

50 160
TP delay [ns]

TVC(ebeh=(2,1,
= pO

Tz, 1be+u4/25
4250+ 0.0
-36.7 £ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 1 15

- 1nuzugse+ud [ 25
4205+ 0.0
-36.01+ 0.00

TP delay [ns]
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TP delay [ns]

TVC(cbch) (2,24

= o,

P, PO
pL

190e+U4 / 25
4199+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

B pD

Tz 2yze+u4 | 25
4192+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

T pyre+ud /25
4238+ 0.0
-37.18+ 0.00
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p1
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-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

=1 i B4pe+u4 [ 25
4184+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

~ 1 nuw,pgbe+u4 / 25
4236+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(C, bch) (2,213

T inaiLysse+ud / 25
4224+ 0.0
-36.32+ 0.00
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TP delay [ns]

TVC(cbch) (2,2,6

pD

p1

T L Ba/e+u4 [ 25
4199+ 0.0
-37.11 + 0.00

TP delay [ns]

TVC(ebeh)=(2,2, 10

= 90

©1nuiz4y1e+u4 [ 25
4229+ 0.0
-36.12+ 0.00
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pO
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-1 i Yo3e+ud / 25
4202+ 0.0
-37.01+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2,2,

X~ i,

= po

pl

/yue+u4 125
4222+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(C, bch) (2,215

e pO
p1

-1 nuiz.usoe+ud / 25
4224+ 0.0
-35.8+ 0.0

TP delay [ns]
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TVC(cbch) (2,3,0)
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.. po 4208+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(cbch) (23,4

- 1wz Qole+ud [ 25
== po 4209+ 0.0
pl -36.65+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 3,8

iz brae+Ua [ 25
e pO 4227+ 0.0
p1 -37.1% 0.0

TP delay [ns]

TVC(cbch) (2,312

S rnuzz3e+04 [ 25
= po 4230+ 0.0
p1 -34.88+ 0.00
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., po 4216+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui Yzoe+u4 / 25
4198+ 0.0
-35.7 £ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (2 3,9

T nun.Us/e+ud [ 25
= po 4259+ 0.0
p1 -37.66+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

T nuiz.u4se+ud [ 25
= pO 4229+ 0.0
pl -34.86 + 0.00

TP delay [ns]
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1000

TVC(cbch) (2,3,2)

X~ 1 nuiL Buve+u4 [ 25
- po 4212+ 0.0
L pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

=i, 7gye+ud / 25
e pO 4219+ 0.0
[ pl -35.97 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 3, 10

1000

- 1 nuizoZze+04 | 25
- pO 4271 0.0
[ pl -36.31 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 3 14

Srnun z11e+04 /25
. pD 4228+ 0.0
[ pl -34.79 £ 0.00
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TP delay [ns]
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A~ 1 nuiLsyze+ud [ 25
- po 4209+ 0.0
pL -35.97+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

S nun 1Tr3e+04 /25
= po 4199+ 0.0
p1 -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T, 4zze+u4/25
- po 4260+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

-z 104e+04 [ 25
- pO 4230+ 0.0
p1 -36.07 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
T rve+ud /25 AT 1 nuiL rooe+ud [ 25 A~ 1nuiLosre+ud /25 AT 1L Bave+ud [ 25
4000 fme, po 4206+ 0.0 4000 [, po 4191+ 0.0 4000 e, po 4199 0.0 4000 fe, po 4221+ 0.0
pl -35.05+ 0.00 pl -34.59 + 0.00 r pl -35.4+ 0.0 pl -36.44 + 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 B 1000 n 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

- i, 748e+04 | 25 -1 bube+ud [ 25 T B3/e+u4 [ 25 -1 nui Yoze+u4 [ 25
4000 pO 4210+ 0.0 4000 e, pO 4220 0.0 4000 e, pO 4230+ 0.0 4000 e, pO 4227+ 0.0
pl -35.92+ 0.00 pL -35.96 + 0.00 3 pl -36.89+ 0.00 pL -36.41+ 0.00
3000~ 1 3000 - 3000 [~ B 3000 1
2000 - — 2000 - 2000~ - 2000 4
10001~ C - 1000 - 1000 r C=27.10 [pS/Ch ] 1000 C -
- I - 1 -
" [ - -
1 1 0, 1 1 - 0, 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

© 1 nu.4p8e+04 / 25 T b, /e+U4 [ 25 ©1nug,buse+u4 / 25 T zbue+u4/25
4000 pO 4246+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4277+ 00 4000, p0 4282+ 0.0
Pl -38.41% 0.00 Pl -37.45% 0.00 [ PL_ -37.32+ 0.00 Pl -37.67%0.00

-1 3000

3000 1 3000 -1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

I iy [
% 50 00 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 12) TVC(c,b Ch) (2, 4 13) TVC(c,b Ch) (2, 4 14) TVC(c,b Ch) (2, 4 15)
T nuiLsboe+u4 / 25 T rs3e+u4 [ 25 T s43e+U4 [ 25 T 1 sabe+u4 [ 25
4000 [, pO 4246+ 0.0 4000 [ pO 4230+ 0.0 4000 [, PD 4234+ 0.0 4000 e, pO 4238+ 00
-34.71+ 0.00 -35.14 £ 0.00 L Pl -3522%0.00 pl 3515 0.00

3000~

-1 3000 - 3000 - 3000 .

2000 [~ | 2000 -1 2000 - 2000

w00 C = 28.81 [ps/ch] : ] 1000 - : — 1000: — 1000 E
IS(I)Illllc:OI- Illlgldlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

A7 1nuiozie+u4 /25
.. po 4216+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (2,54

- 1L 8oae+04 | 25
P, pO 4189+ 0.0
pl -36.47 £ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 5,8

©1nuz 3ooe+u4 | 25
= po 4216+ 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(cbch) (2,5,12

T rnuiLs1ve+u4 / 25
= po 4233+ 0.0
pl -34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT 1 nuiLznse+ud [ 25
o=, po 4210+ 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nui oYe+u4 [ 25
- pO 4200+ 0.0
pL -37.07:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

. Hul44lde+u4/25
==, 4240+ 0.0
-34.56 + 0.00

I C =28.93 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,13

Tinaianie+ud [ 25
= pO 4241+ 0.0
pl -34.09 + 0.00

[ C =29.34 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,5,2)

A7 1 nui n44e+04 /25
- po 4222+ 0.0
- pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

- 1L Yl1oe+u4 / 25
- pO 4203+ 0.0
[ pl -36.08+ 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

Tz rge+u4 [ 25
-, po 4252+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (2,514

~ 1 nuiLquse+u4 / 25
4248+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT 1 nuiLblye+ud /25
- po 4223+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- 1nuiyl/e+u4 / 25
- pO 4211£ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T, /51e+u4/25
- po 4257+ 0.0
p1 -34.54 + 0,00

[ C =28.96 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,15

T nui oove+ud [ 25
= pO 4234+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

AT 1nuiLorve+ud /25
., po 4199+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (26,4

“nun 1 40e+04 [ 25
pO 4212+ 0.0
p1 -35.49+ 0.00

4000 [
3000 - T
2000~ 7
1000~ C 7
| , -
50 100
TP delay [ns]
TVC(c,b ch) (2, 6 8

4000 [

3000

2000

1000

0

T nuz.z45e+04 | 25
pD 4231+ 0.0
pl -37.71+ 0.00

0

50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

T L gsse+u4 / 25
pO 4265+ 0.0
pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nuiLobye+ud [ 25
Fee,, po 4195+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nui 4pbe+04 / 25
[, pO 4216+ 0.0
pL -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nug.u44e+u4 25
E po 4269+ 0.0
pl -38.92 + 0.00

| _m
50 100

TP delay [ns]

TVC(C, bch) (2,6,13

T 1 nuiL pove+ud / 25
- pO 4261+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,6,2)

K™ 1 nui4s0e+04 /25
__- po 4209+ 0.0
- pl -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

T brze+u4 [ 25
- pO 4220+ 0.0
[ pl -34.65 + 0.00

TP delay [ns]

TVC(cbch) (2, 6 10

Tz 3zoe+u4 | 25
F po 4275+ 0.0
- pl -38.63 + 0.00

TP delay [ns]

TVC(cbch) (2,614

~ 1L pyse+u4 / 25
- pD 4266+ 0.0
L pl -36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT rnuiL4sse+ud [ 25
e, po 4214+ 0.0
pl -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui 2yse+u4 / 25
- pO 4226+ 0.0
pL -33.69+ 0.00

[ C =29.68 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

EEALEVX uue+u4/25
- pO 4271£ 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

Tinai g rye+ud [ 25
- pO 4261+ 0.0
p1 -35.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A~ 1nuiLoo/e+ud /25
4201+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (27,4

Srnuan 1 rze+u4 [ 25
4188+ 0.0
-34.92 + 0.00

= pO
pL
e -
% i
TP delay [ns]
TVC(cbch) (2 7,8
o pD

T g plge+u4 / 25
4212+ 0.0
-35.41+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,7,12

Tz rse+u4 | 25
4223+ 0.0
-36.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

AT rnuiLbrze+ud [ 25
4208+ 0.0
-36.72+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,5

- pO

pl

-1 nui gzye+u4 [ 25
4190+ 0.0
-34.94 % 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2, 7

e, po

-1 nuw.ygae+ud 25
4224+ 0.0
-34.79+ 0.00

pl

TP delay [ns]

TVC(C, bch) (2,7,13

=, pO

T nuizyb/e+ud [ 25
4214+ 0.0
-35.65+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

1000

TVC(cbch) (2,7,2)

rure+u4 /25
4221+ 0.0
-37.77 + 0.00

A1,

. po
pl

TP delay [ns]

TVC(cbch) (2,7,6

pO
p1

= 1 nurL Yobe+ud / 25
4219+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

= 1 nuig,

. 90
pl

1U3e+U4 /25
4226+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (27,14

~ L yzse+u4 [ 25
4221+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

AT rnuiLByse+ud [ 25
4223+ 0.0
-36.62+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,7

pe=e. pO
pl

-1 nu 344e+04 [ 25
4214+ 0.0
-35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

. pO

Tz bHE+U4/25
4243+ 0.0
-35.51+ 0.00

pl

TP delay [ns]

TVC(C, bch) (2,7,15

P, pO

T inuizziye+ud [ 25
4229+ 0.0
-36.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

T rae+u4 /25
pO 4217+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (28,4

T 1 31e+04 / 25
pO 4231% 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

1nuzbove+U4 / 25
PD 4233+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (2,812

T, rsse+u4 / 25
pO 4268+ 0.0
pl -36.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nuiLbsse+ud [ 25
- po 4233+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C =29.46 [ps/ch]

- nui Z1ze+04 [ 25
pO 4228+ 0.0
-33.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

-1 nui gyve+ud | 25
po 4239+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(C, bch) (2,813

T nuib3ae+ud [/ 25
pO 4248+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

A7 1 nui rooe+U4 /25
po 4237+ 0.0
pl -35.39 0.00

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 29.07 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

T 3rze+04 [ 25
-, po 4256+ 0.0
- pl -34.98 + 0.00

-1 nunL3uze+04 [ 25
- pO 4246+ 0.0
[ 344+ 0.0

TP delay [ns]

TVC(cbch) (2,8 14

~ 1L puze+u4 | 25
__ pD 4266+ 0.0
L pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT rnuiLoble+ud [ 25
o po 4225+ 0.0
p1 -33.9+ 0.0

[ C =29.50 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nui bzoe+u4 / 25
- pO 4259+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T, /Ube+U4/25
4279+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(C, bch) (2,815

Tinai43e+04 /25
= po 4275+ 0.0
p1 -37.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

T Lose+ud /25
4158+ 0.0
-35.28+ 0.00

TP delay [ns]

TVC(cbch) (2,94

pO
pL

S i 1.94e+04 /25
4203+ 0.0
-37.47 + 0.00

50 100

TP delay [ns]

TVC(cbch) (2 9,8

B pD

T 1nuig.434e+04 / 25
4206+ 0.0
-35.61+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,9,12

= po
p1

©rnuizuzoe+u4 | 25
4203+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

. pO

S pyre+ud [ 25
4173+ 0.0
-37.32+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 9,5

- nu 1u8e+u4 / 25
4208+ 0.0
-38.1+ 0.0

| =
100

TP delay [ns]

TVC(c,b ch) (2 9,9

~ 1 nu.Y/oe+ud [ 25
4219+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

T nai ryve+ud / 25
4198+ 0.0
-36.1+ 0.0

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,9,2)

b po

A7 nun ssae+04 / 25
4179+ 0.0
-35.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (29,6

T rnuz0p/e+u4 [ 25
4202+ 0.0
-36.14 + 0.00

- PO
[ o
L C = 27.67 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (2, 9 10

= o

T rnuzgz1e+04 /25
4240+ 0.0
-35.36+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,914

- DD
L pl

~ 1L pyze+u4 | 25
4208+ 0.0
-37.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

144e+04 | 25
4163+ 0.0
-34.93+ 0.00

A,

po
pL

TP delay [ns]

TVC(c,b ch) (2 9,7

E pO
p1

S nuzz(e+u4 [ 25
4231+ 0.0
-38.09 + 0.00

1=
50 100

TP delay [ns]

TVC(c,b ch) (2, 9

AR bbze+u4/25
4236+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

= pO

T nui ogbe+ud / 25
4203+ 0.0
-36.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

© L poze+u4 [ 25
4167+ 0.0
pl -35.96 + 0.00

TP delay

TVC(cbch) (2,104

[ns]

- 1 nuiL.a98e+04 / 25
4198+ 0.0
-35.19+ 0.00

e, pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
T a2 3u1e+u4 / 25
= po 4220+ 0.0
pl -36.32+ 0.00

TP delay

TVC(cbch) (2,10,12

[ns]

T rnuiLys1e+u4 / 25
4240+ 0.0
pl -35.62+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

e, po

AT 1nuiLs3/e+u4 [/ 25
4169+ 0.0
-34.75+ 0.00

p1

TP delay [ns]

TVC(c, bch) (2,105

=1 nui bobe+u4 [ 25
4197+ 0.0
-34.49 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

— po

~ 1 nu nz2ae+04 [ 25
4245+ 0.0
-35.65+ 0.00

TP delay [ns]

TVC(cbch) (2,10,13

X rnan g

e, po
p1

yye+ud / 25
4235+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

F=. po

AT 1nuiozse+ud /25
4193+ 0.0
pl -36.81+ 0.00

TP delay

TVC(cbch) (2.10,6

- P°

[ns]

T b 3e+u4 [ 25
4230+ 0.0
pl -36.02 + 0.00

TP delay

TVC(cbch) (2,10, 10

- b

[ns]

©nubsge+ud | 25
4275+ 0.0
-36.6+ 0.0

1
100

TP delay

TVC(cbch) (2.10,14

- pD

[ns]

~ 1 nuiLgode+u4 [ 25
4236+ 0.0
pl -35.65+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10,3)

e po

AT 1L 1zoe+ud [ 25
4195+ 0.0
pl -36.15+ 0.00

TP delay

TVC(c, bch) (2,10,7

E. pO

[ns]

- nui bg/e+u4 [ 25
4227+ 0.0
pl -35.88+ 0.00

50 1(;0
TP delay

TVC(eheh)=(2,10, 11

= pO

[ns]

Tinuz1/3e+u4 /25
4280+ 0.0
-37.5+ 0.0

1
50 100

TP delay

TVC(cbch) (2,10,15

[ns]

Tinusiie+rud /25
4232+ 0.0
-34.58 + 0.00

[ C=28.92 [ps/ch]

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

K™ 1nui4r9e+04 /25
.. po 4177+ 0.0
p1 356+ 0.0

TP delay [ns]

TVC(cbch) (2,11,4

- 1 i 38be+u4 / 25
e pO 4189+ 0.0
p1 -34.79:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

T 1nuzpsbe+u4 | 25
- pO 4214+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

K71 nui szye+04 / 25
= PO 4235+ 0.0
pl -35.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,1)

A~ 1 nuiL, ro4e+U4 [ 25
pee,, po 4192+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (2,11,5

~nui r41e+04 [ 25
4196+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

<1 nuw byae+u4 / 25
= po 4233+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (211,13

~ 1 nuiLyuoe+ud / 25
- pO 4234+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(CbCh) (2, 11 2)

1000

~1nuiLp44e+u4 [ 25
P pO 4201+ 0.0
L p1 -36.3+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,11,6

~ i 745e+04 [ 25
- pO 4204+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X~ 1 1ui2.448e+04 | 25
po 4244+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

1000

X~ 1L syse+ud [ 25
F po 4243+ 0.0
L pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT 1L r3oe+ud [ 25
- po 4202+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (2,11,7

- nun 1 p8e+ud [ 25
- pO 4214+ 0.0
pL -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(Ebeh=(2, 11, 11)

Tonuar1.9e+ud /25
= po 4230+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (211,15

T nuiLyige+ud [ 25
= pO 4237+ 0.0
p1 -35.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T rnuiLysse+u4 [ 25
4197+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(cbch) (2,124

T 1L b/4e+u4 [ 25
- pO 42214 0.0
pl -36.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

© 1 nuzglve+u4 | 25
= po 4202+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(cbch) (212,12

TrnuiLysre+u4 / 25
= po 4247+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

p1

AT 1 nuLysve+ud [ 25
4208+ 0.0
-38.17 + 0.00

TP delay [ns]

TVC(cbch) (2,125

F- pO

-1 nui gble+u4d / 25
4231+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 12

T naiyz43e+04 /25
4228+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (212,13

T inai rsze+ud [ 25
4228+ 0.0
-34.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

A7 1 nuizuzye+ud /25
o= po 4219+ 0.0
L pl -37.42+ 0.00

3000

T i/ (3e+04 [ 25
pe, pO 4237+ 0.0
[ pl -36.63+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

© 1, ro4e+04 [ 25
-, po 4235+ 0.0
- pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (212,14

T Lyze+ud /25
. pD 4244+ 0.0
L pl -35.84.+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT LB roe+ud [ 25
4218+ 0.0
pl -36.58 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

-1 nui B41e+u4 / 25
4268+ 0.0
-37.6+ 0.0

50 1(;0
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

T nuz 133e+u4 / 25
4239+ 0.0
pl -35.12+ 0.00

TP delay

TVC(cbch) (212,15

o Lo

[ns]

- revua] 25
4234+ 0.0
pL -35.12:+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T, ruse+u4 [ 25
.. pO 4204+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1L Base+u4 / 25
- pO 4240 0.0
p1 -40.03+ 0.00

50 100
TP delay [ns]

TVC(cbch) (2, 13 8

1 UL bBbe+u4 / 25
= po 4205+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (2,13,12)

~rnuiLyyze+u4 | 25
= po 4231+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

= po

AT rnuiL1ye+ud [ 25

pL -36.49 + 0.00

4222+ 0.0

TP delay [ns]

TVC(c, bch) (2,135

1 nuZ.ubse+u4 | 25

- pO 4243+ 0.0
p1 -39.49 + 0.00

TP delay [ns]

TVCEebeN)=(2 13,9

-1 nug.yuze+ud / 25
= po 4229+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (213,13

Tonany/le+ud [ 25
= pO 4225+ 0.0
pl -36.02+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

AT rzze+04 /25
_- po 4212+ 0.0
L pl -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

-1 nuz10ze+04 [ 25
4254+ 0.0
-39.61+ 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1000

1 nuiz.405e+04 / 25
- po 4240+ 0.0
- pl -35.41+ 0.00

TP delay [ns]

TVC(cbch) (2.13,14

T Lyoe+ud /25
pD 4228+ 0.0
pl -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1L bsse+ud [ 25

po 4226+ 0.0
pl -36.98+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

Cnuzrye+ud [ 25

pl -39.12+ 0.00

E pO 4256+ 0.0

TP delay [ns]

TVC(eheh)=(2,13, 11

-1 nui ygse+ud [ 25
e pO 4242+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (213,15

-1 nui ysoe+ud / 25
po 4229+ 0.0
-35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,14,0)

TnaiL4rse+Ud [ 25
[, PO 4175+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (2,144

T by /e+ud [ 25
™, pO 41831 0.0
pl -36.80 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 14 8

T, ro1e+u4 / 25
- PD 4227+ 0.0
pl -37.45+ 0.00

TP delay [ns]

TVC(cbch) (214,12

-y pge+ud [ 25
- PO 4214+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,1)

AT 1 nuiLbrze+ud [ 25
=, Y 4178+ 0.0
p1 -36+ 0.0

TP delay [ns]

TVC(c, bch) (2,145

Cnun 1 //e+ud [ 25
4211+ 0.0
-37.3+ 0.0

TP delay [ns]

TVCebeh)=(2, 14,9

-1 Bage+u4 [ 25
- DO 4251% 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (214,13

T 13e+u4 / 25
= PO 4214+ 0.0
-37.1+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(cbch) (2,14,2)

X~ 1w osze+U4 [ 25
- PO 4177+ 0.0
I pl -35.8+ 0.0

TP delay [ns]

TVC(cbch) (2.14,6

=i, (53e+04/ 25
- pO 4217+ 0.0
I pl -36.56 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 14, 10

1000

0

T rnu bz3e+u4 [ 25
- DO 4261+ 0.0
I pl -37.25 0.00

TP delay [ns]

TVC(cbch) (2.14,14

Tona 1 ge+ud /25
- pD 4212+ 0.0
[ pl -36.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,3)

AT 1 nuiL414e+U4 /25
PO 4182+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

nur 1.8e+04 /25
4213+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (2, 14 1

T nuz 3 roe+u4 [ 25
- pO 4265+ 0.0
pl -37.59 + 0.00

TP delay [ns]

TVC(cbch) (214,15

T rs3e+u4 [ 25
= PO 42131 0.0
pl -35.9 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T osze+u4 [ 25
P pO 4175+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (2,154

Crnuan i /1e+u4 /25
- pO 4190+ 0.0
pl -35.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

1 nuiz.4uve+04 | 25
4211+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,15,12

T L psbe+u4 / 25
= po 4219+ 0.0
-35.31+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (2,15,1)

3000

2000

1000

AT 1L 1ye+u4 [ 25
4000 e po 4187+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (2,155

4000

3000

2000

1000

=1 nui by3e+ud [ 25
4187+ 0.0
-34.7+ 0.0

50 1(;0
TP delay [ns]

TVC(ebeh)=(2 15,9

4000

3000

2000

1000

~ 1 nu.ugle+ud / 25
4238+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (215,13

4000 [

3000

2000

1000 [~

-1 nuiL byoe+ud / 25
pO 4209+ 0.0
-34.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,15,2)

K™ 1 nuioyoe+u4 /25
__- po 4191+ 0.0
o pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

- Ui b3be+u4 / 25
- pO 4200+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T rnuizyyre+ud | 25
e, po 4267+ 0.0
o pl -37.45+ 0.00

TP delay [ns]

TVC(cbch) (2.15,14

~ 1L bo5e+U4 [ 25
- pD 4224+ 0.0
[ p1 -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT rnuiLbrye+ud [ 25
- po 4198+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(c, bch) (2,157

“nui /rge+u4 / 25
- pO 4212+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuiz 1s3e+u4 / 25
= po 4239+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

T nuib4ye+u4 25
=3 4212+ 0.0
-33.29+ 0.00

[ C =30.04 [ps/ch] %. ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVO(eb.ch)=(3, 0,0

X~ 1w Ba1e+04 [ 25
E. po 4204+ 0.0
p1 -38.15+ 0.00

1=
50 100

TP delay [ns]

TVC(eb.ch)=(3,0, 4

= 1L 99ge+ud / 25
= po 4217+ 0.0
pl -37.63+ 0.00

TP delay [ns]

TVC(eb,ch)=(3, 0,8

_ X~ 1 $ze+0a ] 25
e, po 4169+ 0.0
-34.06 + 0.00

4000

3000 ]

2000~ ]

w0 C = 29.36 [ps/ch] T

I o o
TP delay [ns]
TVC(c,b Ch) (3, 0 12
4000

3000

2000

1000

-1 nuiz 1ive+ud | 25
4242+ 0.0
-35.71+ 0.00

P R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVO(eb.eh)=(3,0, 1

X 1 i Su1e+ud | 25
P e po 4175+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(ebch)=(3,0,5

Tnan 2326404 | 25
- pO 4209+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0,9

=g 7 roe+Ua 1 25
- po 4213+ 0.0
pL -34.77 + 0.00

TP delay [ns]

TVC(ebeh)=(3, 0,13

-1 nuz z9ze+u4 | 25
4224+ 0.0
-35.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

:

ww;c=2930mSMh] - é
| . o

4000

3000

2000

TVC(cbch) (3,0,2)

A~ 1 nui Bsae+u4 | 25
F po 4194+ 0.0
L pl -37.23+ 0.00

TP delay [ns]

TVC(eb.ch)=(3,0,6

- 1nuz zove+ud | 25
3 pO 4232+ 0.0
[ p1 -38.11+ 0.00

TP delay [ns]

TVC(CbCh) (3, 0 10

_ - 1 iz s8ye+Ua | 25
pee, po 4203+ 0.0
[ pL -34.13 0.00

TP delay [ns]

TVC(ebeh)=(3, 0, 14

1000

- ""

pl

- 1 iz, zoye+u4 [ 25
4235+ 0.0
-36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

A~ 1 nuiL Bove+ud | 25
- po 4202+ 0.0
pL -37.19+ 0.00

TP delay [ns]

TVC(ebeh)=(3,0,7

- nu331e+u4 / 25
- pO 4239+ 0.0
p1 -38.03+ 0.00

50 100
TP delay [ns]

TVC(e.hch)=(3, 0, 1

=g -;,/ye+u4/25
- pO 4210+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(Eben)=(3,0, 15

S slre+ud [ 25
4218+ 0.0
-34.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0)

e po

pl

AT 1nuiLyise+ud /25
4180+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(cbch) (31,4

C pO
pL

T rnuzzy/e+ud | 25
4201+ 0.0
-36.13+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3 1,8

- pD

p1

1z 2yge+u4 | 25
4191+ 0.0
-35.44 + 0.00

TP delay [ns]

TVC(cbch) (31,12

T rnuiLgoe+u4 / 25
4214+ 0.0
-34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

P PO

p1

AT rnuLs/1e+ud [ 25
4189+ 0.0
-37.04 % 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

pO
pl

-1 nu 1yse+u4d [ 25
4190+ 0.0
-35.51+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3 1,9

= po

T naiy g4ze+u4 [ 25
4196+ 0.0
-36.22+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,1,13

T nui ssye+ud [ 25
4222+ 0.0
-36.77+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,1,2)

Foeee, po

pl

K™ 1 nuzuise+ud / 25
4181+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (3,1,6

pO
p1

-1z 4z8e+04 [ 25
4208+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(cbch) (3, 1 10

- DO

1 nuiz,yoye+ud | 25
4196+ 0.0
-35.01+ 0.00

pl

TP delay [ns]

TVC(cbch) (31,14

. DD

TrnuiLbLe+u4 [ 25
4209+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

o po

AT 1z 1zve+ud [ 25
4202+ 0.0
pl -36.22+ 0.00

TP delay

TVC(c,b ch) (3 1,7

e pO

[ns]

Snun zbze+04 [ 25
4219+ 0.0
pl -36.69 + 0.00

50 1(;0
TP delay

TVC(eho=(3,1, 1

= pO

[ns]

T nuizyLie+ud / 25
4213+ 0.0
pl -36.27 + 0.00

TP delay

TVC(cbch) (31,15

[ns]

T inuiLysie+ud [ 25
4219+ 0.0
-35.31+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

Broe+ud [ 25
4169+ 0.0
-35.73+ 0.00

A1

e, po

pl

TP delay [ns]

TVC(cbch) (3,24

T rnuLgse+ud [ 25
4178+ 0.0
-35.63+ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

E pD

p1

T rnuizurve+u4 | 25
4221+ 0.0
-35.72+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T rnuiLyr4e+u4 / 25
4227+ 0.0
-35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

A

. PO

p1

vzse+u4 [ 25
4191+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

pO
pl

“nuz.Us/e+u4 [ 25
4203+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

e, po

T nup.312e+04 / 25
4235+ 0.0
-36.47 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,213

T nui s4ve+ud [ 25
4227+ 0.0
-35.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (3,2,2)

™, po

AT 1nuLsrse+u4 /25
4196+ 0.0
-37.53+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

ST,
pO
p1

193e+04 /25
4202+ 0.0
-36.45+ 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

- o

©1nuizysve+ud | 25
4276+ 0.0
-38.27 + 0.00

pl

TP delay [ns]

TVC(cbch) (3,2, 14

K- rnun g

- p0
pl

r4e+u4 | 25
4220+ 0.0
-35.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

AT 1L bsye+ud [ 25
4196+ 0.0
pl -37.25+ 0.00

TP delay

TVC(c,b ch) (3 2,7

pO
pl

[ns]

-1 nuz.0L3e+u4 / 25
4207+ 0.0
-35.86 + 0.00

50 1(;0
TP delay

TVC(ehoh)=(3,2, 1

[ns]

~ 1 nuiz.u4ae+u4 /25
4268+ 0.0
pl -37.33+ 0.00

TP delay

TVC(C, bch) (3,215

[ns]

- nui ssae+u4 [ 25
4235+ 0.0
-35.38 + 0.00

TP delay

[ns]



TVC(cbch)(330) TVC(cbch)(331) TVC(cbch)(332) TVC(cbch)(333)
A” 1L 510e+u4 / 25 A~ 1 bpse+ud /25 A” 11w buge+us [ 25 A~ 1w bz0e+ud [ 25
4000 4189+ 0.0 4000 ™ po 4197+ 0.0 4000 __- po 4214+ 0.0 4000 [ po 4213+ 0.0
-35.81+ 0.00 pl -36.63+ 0.00 : pl -36.07 i_0.00 pl -34.64 + 0.00

3000

1 3000 - 3000

-1 3000

2000 T 2000 B 2000 2000

1000 - 1000 =1 1000

1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,34 TVC(cbch) (33, TVC(cbch) (33,6 TVC(c, bch) (33,

~ g 2‘:}&9+04 125 T rnar b)4dE+U4/25 “ g 2‘:}$e+U4 125 T nar b)dbe+04/25
4000 fo pO 4211+ 0.0 4000 [, pO 42241 0.0 4000 [, pO 4233+ 0.0 4000 pO 4249+ 0.0
3432 0.00 Pl 35443000 [ PL_ 3566+ 0.00 Pl 34,68+ 000
3000 - 3000 - - 3000 :— —: 3000 -
2000 - ] 2000 - 2000 — — 2000 ]
L ] 1000 - e 1000 C = . I b
ol C = 29.14 [ps/ch] ™, c : P C=28.04 [ps/chly, 7 w0l C = 28.83 [ps/ch] ™,
1 1 - 1 1 - L 1 1 - 1 1 1 -
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3 3,8 TVC(cbch) (3 3,9 TVC(cbch) (3, 3 10 TVC(cbch) (3, 3

T rnuz183e+04 / 25 1 nu.an8e+u4 [ 25 T rnuz4nie+ud [ 25 T nug ub/e+u4/25
4000 =, PD 4212+ 0.0 4000 4221+ 0.0 4000 - DO 4250+ 0.0 4000 pom, pO 4251+ 0.0
pl -35.29+ 0.00 -34.8 + 0.0 r pl -35.68 + 0.00 pl -36.75+ 0.00

- 3000

3000 -1 3000 - 3000

2000 - 2000 - 2000

N 2000

1000 1000 . 1000 - 1000
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pl -35.46 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3,11,1)

=, po

A7 1 huiLbbge+ud / 25
4191+ 0.0
pl -35.73+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,5

=1 i buge+u4 / 25
pese, 4175+ 0.0

33.36 + 0.00

[ C =29.98 [ps/ch]

50 1(;0
TP delay

TVC(eh.eh)=(3, 11, 9

po

[ns]

-1 nuiy byve+ud 25
4253+ 0.0
pl -36.47 + 0.00

TP delay

TVC(cbch) (311,13

pO

[ns]

T nuiooze+ud [ 25
4201+ 0.0
pl -35.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (3, 11 2)

F=. P°

T/ sve+ud [ 25
4189+ 0.0
-36.4+ 0.0

pl

TP delay [ns]

TVC(cbch) (3,116

-1 i bB4e+04 [ 25
pO 4199+ 0.0
pl -35.04+ 0.00

TP delay

TVC(cbch) (3,11, 10

[ns]

_ X, dw)ea,ua/zs
4000 po 42445 0.0
[ p1 -34.62:+ 0.00
a000 7]
20001 1
1000 C = 28.88 [pS/Ch] 3 ]
1 1 =
) = T00
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (3,11, 14

— X~ 1L ayze+ud [ 25
-, po 4195+ 0.0
L p1 -34.63+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,11,3)

o po

AT 1L ssse+ud [ 25
4194+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (3,11,7

— S nun 1 /4e+04 [ 25
e, pO 4185+ 0.0
p1 -34.52:+ 0.00

TP delay

TVC(Ebeh=(3, 11, 11

[ns]

T nuiyyle+ud / 25
4266+ 0.0
pl -36.78 + 0.00

TP delay

TVC(cbch) (311,15

= po

[ns]

-1 nuiasoe+ud [ 25
4206+ 0.0
p1 -35.15+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,0)

e, po

pl

K™ 1 nui ooze+V4 /25
4181+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (40,4

= o,

C po
pL

1u3e+U4 / 25
4200+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(cbch) (4 0,8

T nuig,144e+04 / 25
4200+ 0.0
-34.78 + 0.00

TP delay [ns]

TVC(cbch) (4,0,12

pO
p1

T rnuiLguze+u4 / 25
4207+ 0.0
-34.08 + 0.00

[ C =29.34 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,1)

P PO

p1

A7 1 nuiLbyoe+ud [ 25
4177+ 0.0
-35.27 + 0.00

TVC(c,b ch) (4 0,5

pO
pl

1
100

TP delay [ns]

=1 i buze+u4 / 25
4205+ 0.0
-35.54 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4 0,9

T nu.1z29e+u4 / 25
4226+ 0.0
-35.35+ 0.00

TP delay [ns]

TVC(C, bch) (4,0,13

0, 13) —‘
1 nu biye+ud / 25
= 4200+ 0.0
-33.02+ 0.00
[ C =30.29 [ps/ch] ™. ]
B —T s
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (4,0,2)

po

pl

AT 1nui g rye+V4 /25
4187+ 0.0
-35.39 0.00

TP delay

TVC(cbch) (4,0,6

pO
p1

[ns]

- i b3ze+u4 [ 25
4205+ 0.0
-35.72+ 0.00

TP delay

TVC(cbch) (4, 0 10

[ns]

1 nuig,bupe+u4 / 25
4227+ 0.0
-33.86+ 0.00

F= 90
L pl
3000:— __
2000:— _:
wof- C = 29,53 [ps/ch] ™, 1
L = o
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (4,0,14

T/ e+u4 [ 25
4213+ 0.0
-33.42+ 0.00

- C =29.92 [ps/ch] ™.

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (4,0,

A

e, po
pL

3

nuiL438e+U4 / 25
4201+ 0.0
-34.71+ 0.00

TVC(c,b ch) (4 0,7

-

feme pO
pl

1
100

TP delay [ns]

nui gole+u4 / 25
4230+ 0.0
-36.06 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, O

ERALEICK bwe+u4/25
4238+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
100

50
TP delay [ns]
TVC(c,b ch) (4, O 15)
Conuan g rze+ud | 25
= pO 4198+ 0.0
pl -32.83+ 0.00

[ C=30.46 [ps/ch] ™ 7]

PR
50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,0

K™ 1 nuiLgule+ud /25
- po 4188+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

- rnuz 1yze+u4 | 25
s, pO 4183+ 0.0
pl -36.06+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

T zyse+ud [ 25
= po 4209+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (41,12

Tz szoe+u4 | 25
= po 4198+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1

A~ 1 L Save+Ud | 25
P e po 4168+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

“1nuz.03/e+u4 / 25
E pO 4191% 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,9

~ 1 nu.az8e+u4 / 25
= pO 4211+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(C, bch) (41,13

T inuz.zloe+ud [ 25
= pO 4196+ 0.0
pl -35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (4,1,2)

- C = 27.03 [pslc .

AT 1nuLsrse+u4 /25
e po 4186+ 0.0
L p1 -37+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (41,6

T rnuzbe+u4 [ 25
4194+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (41,10

T nug,33oe+U4 / 25
DO 4247+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (41,14

~1nuiz.4zoe+04 [ 25
4210+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3)

AT rnuiLylie+ud /25
b= po 4205+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

-1 nu 3upe+u4 / 25
- pO 4202+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 1

1)
T nuzs1ae+ud [ 25
= 4240+ 0.0
-33.88+ 0.00

[ C=29.51 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (41,15

1 nuiz syve+ud [ 25
4210+ 0.0
-35.61+ 0.00

TP delay [ns]



TVC(cbch)(420 TVC(cbch)(421) TVC(cbch)(422) TVC(cbch)(423

AT 1nuizuure+ud /25 “rnun g gbe+ud [/ 25 A” 1L Byze+u4 [ 25 A~ 1L yyze+ud | 25
4000 fe, po 4210+ 0.0 4000 ., po 4208+ 0.0 4000 fm, PO 4238+ 0.0 4000 fre PO 4226+ 0.0
pl -35.39 0.00 pl -34.84 + 0.00 o pl -35.95+ 0.00 pl -34.3+ 0.0

3000 1 3000 |- -1 3000 :— __ 3000 -1

2000~ 4 2000 [ B 2000 :‘ ': 2000 [ T

e 1 wof C = 28.70 [ps/chN,_ 7 1 wof C = 29.15 [ps/ch] ™, "7
% wh— % o % i

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,24 TVC(cbch) (42, TVC(cbch) (4,2,6 TVC(c, bch) (42,

S, I)U{seﬂJA 125 S| l?ibE+U4/25 RALEX U)AbeHJd 125 S 1)14E+U4/25
4000 pO 4202+ 0.0 4000 =, pO 4211+ 0.0 4000 = pO 4218+ 0.0 4000 f pO 4229+ 0.0
Pl 3428+ 000 Pl -33.243 000 [ PL_ -34.04%0.00 Pl 34,653 000
3000 g 3000 _ 3000 ] 3000 - ]
2000 4 2000 ] 2000 ] 2000 4
ool C = 29.17 [ps/ch]™., wof C = 30,00 [ps/ch] ™. 1 wof ¢ = 29.38 [psich]™, . wof C = 28.86 [ps/ch]™,_ 1
1 1 - 1 1 - [ 1 1 - 1 1 -
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (4 2,8) TVC(c,b Ch) (4 2,9) TVC(c,b, Ch) (4, 2 10) TVC(c,b Ch) (4, 2 11)
© 1 nug, 1oge+ud / 25 Ty 3/4e+04 1 25 T, (g4e+u4 | 25 T 1 1ube+u4 / 25
4000 fe pO 4235+ 0.0 4000 fae pO 4259+ 0.0 4000 fome, DO 4268+ 0.0 4000 fs p0 4267+ 0.0
Pl -36.15% 0.00 Pl 3575000 [ PL_ -35.68% 0.00 Pl 3546+ 0.00

3000

N 3000 - 3000 - 3000

2000 2000 B 2000 - 2000

1000 T 1000 -1 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(421 ) TVC(cbch)(4213) TVC(cbch)(421 ) TVC(cbch)(4215)
1 nuizugve+ud | 25 T inuzuve+ud [ 25 Tz 193e+u4 [ 25 Tinuiz13/e+ud /25
4000 pO 4226+ 0.0 4000 g, pO 4227+ 0.0 4000 PD 4210+ 0.0 4000 o, pO 4223+ 0.0
pl -35.08 + 0.00 pl -34.24+ 0.00 r -34.41+ 0.00 pl -34.69+ 0.00

3000

T 3000 - 3000~ - 3000 -1

2000 2000 - 2000~ — 2000

- 1000

. ol C = 29.06 [ps/ch]

1000 ] 100 C = 29.21 [ps/ch] . - ]
Igldlllllﬂlol- IIIIS(I)IIIIIC:OI-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

A7 g rze+04 /25
- po 4181+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (4,34

-1z 1u5e+u4 / 25
pO 4200+ 0.0
pl -35.98:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

1nuiLb 7 re+u4 [ 25

e, po 4210+ 0.0
p1 -34.44 0.00

TP delay [ns]

TVC(cbch) (4,312

1y zove+ud | 25

e, po 4249+ 0.0
p1 -36.06+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT rnunLrsze+ud [ 25
1 s po 4186+ 0.0
pl -35.03+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 3,5

- 1nu Zloe+u4 / 25
E pO 4211+ 0.0
p1 -36.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 3,9

~ 1 nug.uzoe+ud / 25
= pO 4211+ 0.0
pl -33.43+ 0.00

[C=29.92[ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (4,3,13

T inug. rb3e+ud / 25
= pO 4234+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,3,2)

A7 1 nuiLssye+u4 / 25
po 4205+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(cbch) (43,6

Crnaz13e+u4 [ 25
- pO 4223+ 0.0
[ pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

T rnuizurse+ud | 25
- po 4243+ 0.0
- pl -35+ 0.0

TP delay [ns]

TVC(cbch) (4,3 14

~1nug.q90e+04 / 25
F-. pD 4232+ 0.0
L pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,33

AT 1 nuiL robe+ud [ 25
poee, po 4207+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (4 3,7

-1 nu 2use+u4 [ 25
- pO 4247+ 0.0
pL -36.79+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (4, 3

T yzue+u4/25
- po 4255+ 0.0
p1 -34.74+ 0.00

[ C=28.79 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (43,15

T nug.qu/e+u4 /25
= po 4243+ 0.0
p1 -35.36+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0

AT 1nun4sse+04 /25
P po 4182+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(cbch) (4.4,4

-1 zoye+ud | 25
4195+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(eb.ch)=(4, 4,8

Tz Z1ipe+u4 | 25
= po 4212+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (4,4,12

T L poe+ud /25
= po 4206+ 0.0
pl -35.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,1

AT 1 nuiLzoge+u4 [ 25
pee,, po 4174+ 0.0
pl -33.86 + 0.00

[ C =29.53 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 4,5

-1 nui4y1e+u4 / 25
e, pO 4203 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

-1 nuw.pbye+ud / 25
po 4250+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (4,4,13

T inuiL oo /e+ud [ 25
- pO 4214+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,4,2)

A7 nun suoe+u4 / 25
i po 4185+ 0.0
L pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (44,6

S rnun153e+04 [ 25
- pO 4224+ 0.0
[ pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (44,10

Tz ze+04 /25
F po 4249+ 0.0
F pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (4,4,14

~ i b43e+04 / 25
= pD 4208+ 0.0
L p1 -34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3

A1 v 4aze+04 [ 25
poee, po 4198+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

-1 nu 388e+u4 / 25
- pO 4218+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 4

1)
Tnuzy/e+u4 [ 25
- po 4267+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (4,4,15

Tinuioz/e+ud [ 25
= pO 4208+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0)

T Loze+ud /25
4186+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,54

T 1 p3e+ud [ 25
e pO 4186+ 0.0
pl -36.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

©rnuig.bg4e+U4 | 25
- po 4226+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (4,5,12

1L 5upe+U4 / 25
= po 4228+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5.1)

T nun 1v4e+u4 /25
.. pO 4206+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

- nungz/e+u4 / 25
e, pO 4193+ 0.0
p1 -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

~ 1 nuw gbae+ud 25
- pO 4245+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(C, bch) (4,5,13

T nui pgle+ud / 25
= pO 4225+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (4,5,2)

AT 1nuiozre+V4 /25
- po 4189+ 0.0
L pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

Tnun 1 ze+u4 /25
- pO 4188+ 0.0
F Pl 3667+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 5 10

1000

Tz 1z4e+04 | 25
. po 4238+ 0.0
- pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

~ 1L pyze+u4 | 25
= pD 4235+ 0.0
[ p1 -36.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

AT rnuiLrsie+ud [ 25
=3 po 4214+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui 814e+04 / 25
e, pO 4220+ 0.0
p1 -37.34+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 5

T a51e+u4/25
4249+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,5,15

T inui s oe+ud [ 25
- po 4228+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



TVO(eb.ch)=(4,6,0) TVO(eb.eh)=(4,6,1) TVO(eb.ch)=(4, 6,2) TVO(ebeh)=(4,6,3)
AT 14 8e+04 / 25 A~ 1L b3ye+ud | 25 A” 1L 5/ye+u4 [ 25 A1 rr1e+ud | 25
400 E, po 4183 0.0 4000, po 4176+ 0.0 4000, po 4196+ 0.0 4000 o, po 4203+ 0.0
pl -34.98 + 0.00 pl -34.61+ 0.00 F pl -34.64 + 0.00 pl -35.06 + 0.00

- 3000

3000 — 3000 - 3000 4

2000 B 2000 E 2000 2000

1000 E 1000 1000

1 wol- C = 28.86 [ps/ch]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (46,6 TVC(c, bch) (46,7

T (?Aleﬂjd 125 4000 T rnar ':?JHE+U4/25 “ g ﬁ)aleﬂjd 125 Sonarg, /)bZE+04/25
4000, pO 4195+ 0.0 pO 4193+ 0.0 4000 e, pO 4212+ 0.0 4000 e, pO 4202+ 0.0
pl 3548+ 0.00 pl -35.81+ 0.00 3 Pl -3645% 0.00 Pl -35.28+ 0.00
3000~ E 3000 E 3000[ 1 3000 E
2000 | E 2000 1 2000 ] 2000 [ -
10001 C 4 1000 B woor C = 27.44 [ps/ch ] woo- C = 28.34 [ps/ch ]
I L5 oL I | = I =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,ch)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.beh)=(4,6, 11)
T 1nug.unse+u4 / 25 T inuy.s31e+U4 /25 ©1nuzgose+ud | 25 -1 nuiL ypbe+ud / 25
4000 f, PD 4217+ 0.0 4000 fo, 4236+ 0.0 4000 __- DO 4251+ 0.0 4000 o, 4240+ 0.0
pl -34.72+ 0.00 -34.59 + 0.00 : pl -35.79+ 0.00 -34.63 + 0.00
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3000 -1 3000 - N 3000 -

2000 4 2000 |- - 2000 2000 -
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1
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TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

T yoe+ud /25 Tinai g rve+ud [ 25 ~1nuizguse+ud | 25 Tnuig1ze+ud [ 25
4000 k=, PO 4236+ 0.0 4000 e, PO 4230+ 0.0 4000 - PD 4233+ 0.0 4000 po, PO 4239+ 0.0
pl -36.53+ 0.00 pl -36.49+ 0.00 r pl -36.89 + 0.00 pl -36.89 + 0.00
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K™ 1 4z7e+04 /25 A 1L 4soe+ud [ 25 X~ 1w 4o8e+04 [ 25 AT 1 nuiLb48e+U4 [ 25
4000w, po 4217 0.0 4000 po 42312 0.0 4000 fm po 4236+ 0.0 4000 o, po 4253+ 0.0
Pl -35.26+ 0.00 pl_ -35.85:0.00 [ Pl -35.26% 0.00 pl  -35.78+0.00
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T z1ze+04 [ 25 -1 nu 3yye+ud [ 25 - rnuzbyle+ud / 25 - 1nu (49e+04 [ 25
4000 pO 4230+ 0.0 4000 ., pO 4221% 0.0 4000 = pO 4232+ 0.0 4000 s pO 42451 0.0
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© 1 nuiLygae+u4 / 25 T rnuy. Z1be+u4 [ 25 T ([ (e+V4 /25 ~ iz, yuse+u4 / 25
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3000 1 3000 T 3000 ] 3000 T
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_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9

- pO

15

- i p34e+ud [ 25
4263+ 0.0
-34.5 % 0.0

[ C =28.98 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

T, rsoe+u4 [ 25
pO 4204+ 0.0
p1 -36.16+ 0.00

TP delay [ns]

TVC(Cbch) (4, 10 4

- iU 168e+04 [ 25
po 4237+ 0.0
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- 1. Ubze+U4 | 25
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pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c, bch) (4,10,1

AT 1nuiLyyle+u4 /25
po 4207+ 0.0
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pl -38.63 + 0.00
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pO 4260+ 0.0
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pl -35.08 + 0.00

TP delay

TVC(cbch) (4,11, 12

[ns]

X~ 1 pzoe+ud [ 25
= po 4229+ 0.0
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2000

1000

TVC(cbch) (5,4,3)

AT 1 nuiz 11oe+ud / 25
e PO 4206+ 0.0
p1 -36.65 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

- nui y3/e+u4 / 25
= PO 42141 0.0
pL -36.89 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 4

AALVS zube+u4/25
- pO 4266+ 0.0
pl -37.59 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

T bsse+u4 / 25
- PO 4220+ 0.0
pl -35.26 + 0.00

TP delay [ns]



TVC(cbch)(550 TVC(cbch)(551 TVC(cbch)(552) TVC(cbch)(553

X~ 1w 510e+U4 /25 AT 1w (13e+u4 [ 25 X~ 1 i bose+U4 [ 25 AT 1 nuiLby/e+u4 /25
4000 foe, PO 41852 0.0 a000g po 4192+ 0.0 4000 foe, po 4205+ 0.0 4000 o, po 4210+ 0.0
pl -36.47 + 0.00 p1 -38+ 0.0 I pl -37.01% 0.00 pl -36.08 + 0.00

3000

1 3000 -1 3000 -1 3000 1

2000 -1 2000 |- -1 2000 = 2000

1000 -1 1000

B w0 C = 26.31 [pS/C — 1000:

_L |_m=
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (55,4 TVC(cbch) (5.5, TVC(cbch) (5,56 TVC(c, bch) (5.5,

~ g :?Aleﬂjd 125 4000 Tnun L?dzEH)A/ZE Srna l)ﬁle+U4 125 4000 Tonan 2&4be+04/25

4000 pO 4188 0.0 = pO 4192+ 0.0 4000 e, pO 4204+ 0.0 = pO 4208+ 0.0

Pl -36.87% 0.00 Pl -37.01% 0.00 + PL_ -36.27+0.00 Pl -36.21% 0.00
3000 1 3000 - -1 3000 -— —- 3000 1
2000 4 2000 - 2000 3 2000 4
woo- C = 27.12 [ps/c ] w00 C = 27.02 [ps/c ] woo- C = 27.57 [ps/ch 7] w00l C =27.61 [ps/ch ]

0 EY 00 0 5 0o 0 EY 0 0 5 T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 5,8 TVC(cbch) (5 59 TVC(cbch) (5, 5 10 TVC(cbch) (5, 5

T nug, (yle+ud / 25 T 1nun b38e+u4 [ 25 T, (19e+u4 / 25 Tz, we+u4/25
4000 pO 42413 0.0 4000 4266+ 0.0 4000 DO 4272+ 0.0 4000, p0 4268+ 0.0
pl 37.5+ 0.0 -37.51+ 0.00 3 pl -37.18+ 0.00 pL -37.15+ 0.00

- 3000

3000 . 3000 1 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000

- 1000 - 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(551 ) TVC(cbch)(5513) TVC(cbch)(551 ) TVC(cbch)(5515)
L poye+u4 / 25 T inuiasse+ud [ 25 T rnuiLby1e+u4 [ 25 T nuipb/e+ud [ 25
4000 pO 4231+ 0.0 4000 pO 4230+ 0.0 4000 = 4242+ 0.0 4000 4231% 0.0
pl -35.37 + 0.00 pl -34.78 + 0.00 r -36.01+ 0.00 -35.01+ 0.00

3000

T 3000 .

— 3000 1 3000

2000 2000 — 2000 2000

1000 1000

1000 - 1000 B

- -

- -

- -

- -

P U U PP BT T T

50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
T rse+ud /25 AT 1 nunLroze+ud [ 25 K™ 1 nuioyye+ud / 25 AT rnuiL4pre+ud [ 25
4000 - PO 4183+ 0.0 4000 - po 4200+ 0.0 4000 _= - po 4213+ 0.0 4000 @ - po 4216+ 0.0
pl -37.7+ 0.0 pl -38.39+ 0.00 : pl -38.51+ 0.00 pl -37.87 + 0.00

3000 - 1 3000

n 3000 - 3000 [

2000 f~ N 2000 -1 2000 -1 2000

=1 1000

wol- C = 26.53 [ps/c 1

=1 1000 [~

L=
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (5.6,

LR u)oaeﬂjd 125 U, l?iaeﬂ)A/ZE LR G)Ube+U4 125 T, )U4E+l)4/25
4000 e, pO 4197+ 0.0 4000 fom, DU 4190+ 0.0 4000 e, pO 4197+ 0.0 4000 e, pO 4207+ 0.0
pl 37.2+ 0.0 Pl -37.17% 0.0 3 Pl -37.16+ 0.00 Pl -36.45% 0.00
3000 - 3000 =1 3000 =1 3000 -
2000~ E 2000 E 2000~ E 2000 E
woo- C = 26.88 [ps/c ] 1000 ] woo- C = 26.91 [ps/c 7] 1000 C ]
- [ - ] "
1 1 -'. 1 1 - 1 , =
0 EY 00 0 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 6,8 TVC(cbch) (5 6,9 TVC(cbch) (5, 6 10 TVC(c, bch) (5, 6

Tz zsze+u4 | 25 -1 nuw. Zbbe+ud | 25 T, r14e+04 / 25 T nug usze+u4/25
4000 PD 4218+ 0.0 4000 b, DO 4226+ 0.0 4000 - DO 4244+ 0.0 4000 o, pO 4247+ 0.0
pl -36.14 + 0.00 pl -36.22 + 0.00 r pl -36.87 + 0.00 pl -36.14 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 N 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch) (5,6,12 TVC(C, bch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5.6, 15

T 1re+u4 /25 ~ 1 nuiz.yuse+ud 25 T gs1e+u4 / 25 Tonan18e+u4 [ 25
4000 PO 4235+ 0.0 4000 g, PO 4223+ 0.0 4000 - PD 4213+ 0.0 4000 PO 4231+ 0.0
pl -36.23+ 0.00 pl -36.3+ 0.0 r pl -35.88+ 0.00 pl -36+ 0.0

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1L yive+u4 [ 25
[, LY 4201 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (57,4

~ 1 nuiL bz3e+u4 / 25
[, pO 4213+ 0.0
pl 371+ 0.0

I C =26.96 [ps/c ]

50 100
TP delay [ns]

TVC(cbch) (5 7,8

T nus18e+u4 [ 25
- pO 4226+ 0.0
pl -36.48+ 0.00

TP delay [ns]

TVC(cbch) (57,12

T inuiLp41e+04 / 25
- pO 4250+ 0.0
pl -35.74+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

A” 1L 73ae+04 [ 25
', PO 4215+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna 8180/ 25
DU 4216+ 0.0
pL -36.33 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

Tinun1z1e+u4 /25
DO 4258+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (57,13

T o3se+u4 / 25
PO 4255 0.0
pl -36.3 + 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1 i save+U4 [ 25
po 4207+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (57,6

1000

T i ro3e+04 [ 25
4221+ 0.0
-36.4+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (5, 7 10

©1nuz 10ve+04 / 25
DO 4255+ 0.0
pl -36.02 + 0.00

1
100

TP delay [ns]

TVC(cbch) (57,14

~ 1 nuiL boze+ud [ 25
F PD 4255+ 0.0
X pl -35.47 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

A7 1 nuiLYube+U4 / 25
- po 4226+ 0.0
pL -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

- nu bze+u4 [ 25
PO 4232+ 0.0
pL -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR yaze+u4/25
- pO 4258+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

T bz4e+04 [ 25
PO 4256+ 0.0
pl -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

AT szie+04 /25
e, po 4214+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (58,4

- a1 rge+u4 [ 25
e pO 4194+ 0.0
p1 -34.84+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T 1nug Zose+u4 | 25
- pO 4224+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,812

~ i bo4e+04 / 25
- po 4265+ 0.0
pl -35.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT rnuLzrse+ud [ 25
.. po 4198+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (5 8,5

- i blze+u4 [ 25
o pO 4198+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nu.by/e+ud [ 25
4253+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(C, bch) (5,813

Tonan g oe+ud [ 25
- pO 4269+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

K™ 1 nuiL4uoe+u4 /25
=, po 4201+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

- i by3e+u4 [ 25
e pO 4222+ 0.0
[ pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

Tz bzoe+u4 | 25
- po 4264+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (5,814

T rnuiLguie+ud / 25
- pD 4250+ 0.0
N p1 -34.6+ 0.0

- C = 28.90 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

x- 1 L dzae+Ud | 25
po 4230+ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nui 430e+04 / 25
pO 4216+ 0.0
pL -35.22:+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

T 991e+u4/25
po 4277+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nui ooze+ud [ 25
po 4240+ 0.0
p1 -34.99 + 0.00

TP delay [ns]



TVE(ED.Ch)=(5,9,0) TVE(EDCh)=(5,9, 1) TVC(ED.Ch)=(5,9, 2) TVEEDe)=(5,9, 3)
A” i 4use+ud [ 25 A~ 1L p3se+ud | 25 A” 1L 344e+04 | 25 A~ 1L asye+ud | 25
4000 fe,, po 4231 0.0 4000 fmm,, po 4230+ 0.0 4000 fm, po 4234+ 0.0 4000 e, po 4254+ 0.0
pl -36.65+ 0.00 pl -36.76 + 0.00 r pl -36.95+ 0.00 pl -37.23+ 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 1 0, L 1 1 -F ] 0,
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5,9,4) TVC(cbch) (5,9,5) TVC(cbch) (5,9,6) TVC(cbch) (5.9,7)
- 1 i 49pe+04 / 25 =11 4upe+u4 / 25 -1 nuiLBaze+u4 | 25 -1 nun gzee+u4 / 25
4000 pO 4216+ 0.0 4000 f DU 4224+ 0.0 4000 [, pO 4245+ 0.0 4000 f pO 4252 0.0
Pl -36.58+ 0.00 Pl -36.05+ 0.00 3 pl -37.43+ 0.00 -37.3+ 0.0
3000 [ B 3000 — 3000 — — 3000 B
2000~ B 2000 E 2000 — — 2000 e
1000 C - 1000 - 1000:— C=26.72 [pS/C — 1000 -
0 EY o 0 EY 00 . 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb.ch)=(5,9,8) TVC(eb,oh)=(5,9,9) TVC(eb,oh)=(5, 9, 10) TVC(e.heh)=(5, 9, 11)
T 1nu.a53e+04 / 25 T b, 1b4e+04 / 25 ~ 1 nuz, 1pbe+u4 / 25 T 3/5e+04 [ 25
4000 pO 4220+ 0.0 4000 4240+ 0.0 4000 o DO 4240+ 0.0 4000 o, 4249+ 0.0
pL -35.01+ 0.00 -34.51% 0.00 L Pl 3363+ 0.00 -34.53+ 0.00
3000 B 3000 - 3000 ] 3000 E
2000 1 2000 — 2000 ] 2000 4
1000 ] 1o C = 28.97 [ps/chl™, 1] wol © = 29.74 [psich] ™. 1 wor C = 28.96 [ps/ch]™, 1
1 1 - [ 1 1 ~- 1 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)
T, f1se+ud / 25 T byze+u4 [ 25 TinuiLgr1e+ud /25 T 1 50e+u4 [ 25
4000 pO 4245+ 0.0 4000 pO 4246+ 0.0 4000 . PD 4230+ 0.0 4000 o, pO 4250+ 0.0
pl -35.97 + 0.00 pl -36.23+ 0.00 r pl -34.2+ 0.0 pl -35.53+ 0.00
3000 B 3000 — 3000} ] 3000 E
2000 E 2000 - 2000k ] 2000 -

1000 1 1000 1000

w0l C = 29.24 [ps/ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

=, pO

TrnuiLgrze+04 [ 25
4161+ 0.0
-35.3+ 0.0

pl

TP delay

TVC(cbch) (5.10,4

[ns]

- 1L 3b4e+04 / 25
4213+ 0.0
pl -35.28 + 0.00

pO
TP delay [ns]
TVC(c,b, ch) (5, 10,8 )
= 1 1up bobe+ud / 25
= pO 4221+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (5,10, 12

pO
p1

[ns]

T L, r4pe+04 / 25
4250+ 0.0
-36.57 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

=, po

AT 1 nunLovye+ud [ 25
4187+ 0.0
-35.15+ 0.00

p1

TP delay [ns]

TVC(c, bch) (5,105

=1 nun bzge+u4 [ 25
4207+ 0.0
-35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

e, po

pl

~ 1 nuw.zoge+ud | 25
4242+ 0.0
-36.42+ 0.00

TP delay [ns]

TVC(cbch) (510,13

pO
p1

Tinai g rge+ud [ 25
4259+ 0.0
-36.11 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (5,10,2)

b, po

A7 1 nuiouse+ud /25
4181+ 0.0
p1 -34.93+ 0.00

TP delay

TVC(cbch) (5.10,6

[ns]

-1 nui395e+04 / 25
4228+ 0.0
pl -36.58 + 0.00

- pO
L C = 27.34 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (5, 10 10

0

= o

1 nuig.ugbe+u4 / 25
4268+ 0.0
pl -37.33+ 0.00

TP delay

TVC(cbch) (5.10, 14

pD

[ns]

~1nuiLpsbe+u4 / 25
4252+ 0.0
pl -36.22+ 0.00

TP delay

[ns]

TVC(Cbch) (5,10,3)

4000 20

AT 1L byoe+ud [ 25
4187+ 0.0
pl -35.29+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (5,10, 7

2000 pO

[ns]

=1 Ui yuee+u4 / 25
4235+ 0.0
pl -35.74 % 0.00

3000

2000

w00 C =27.98 [ps/ch

TP delay

TVC(cbch) (5, 10 1

4000 [ue.

[ns]

-1 nuiz byse+ud [ 25
4260+ 0.0
-35.9 + 0.0

3000

2000

1000

TP delay

TVC(cbch) (5.10,15

4000 [u.

[ns]

T nuipule+ud / 25
4232+ 0.0
p1 -35.75+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,11,0)

[ C=29.70 [ps/ch]

X~ 1w zase+U4 [ 25
™, PO 4166+ 0.0
-33.67 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,4

= 1 i 549e+04 / 25
- pO 4228+ 0.0
pl -35.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

1z, fobe+u4 | 25
- PD 4227+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 1y ro3e+U4 /25
- PO 4240+ 0.0
pl -36.7 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,1)

- PO

p1

A~ 1L aube+ud [ 25
4180+ 0.0
-33.54+ 0.00

[ C =29.81[ps/ch]

_L 1
50 100

TP delay

TVC(cbch) (5 11,5

== pO

[ns]

S nun15ze+04 /25
4219+ 0.0
pl -36.03 + 0.00

TP delay

TVC(cbch) (5, 11 9

[, pO

[ns]

T nu, r83e+U4 / 25
4246+ 0.0
pl -35.49 + 0.00

TP delay

TVC(cbch) (511,13

JRLCtENG

= pO

[ns]

)

- Se+ud /25
4238+ 0.0
pl -36.75+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(cbch) (5,11,2)

- C =30.02 [ps/ch] ™. 1

X llu11u/e+u4/25
[, po 4187+ 0.0
- pl -33.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 11,6

© i 744e+04 [ 25
. pO 4239+ 0.0
3 pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1nuz3o1e+04 /25
- po 4252+ 0.0
L pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1 i bose+U4 / 25
- po 4228+ 0.0
F pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (511,3)

S L zze+u4 [ 25
- PO 4185+ 0.0
pl -33.22+ 0.00
[ C=30.10 [ps/ch] ». ]
1 -
50 100
TP delay [ns]

TVC(cbch) (511,7

s, pO

-1 nui B4 /e+04 / 25
4252+ 0.0
pl -36.55+ 0.00

TP delay

TVC(cbch) (511,11

e, pO

[ns]

1 nui ggoe+u4 / 25
4253+ 0.0
pl -35.83+ 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

T b3be+u4 [ 25
4226+ 0.0
pl -35.39 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

©rnuiLg4use+ud [ 25
P pO 4184+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

=i, (O1e+04 / 25
P, pO 4205+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

1 nuizuooe+u4 | 25
= pO 4201+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T i, r49e+04 / 25
4216+ 0.0
-36.11 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

AT 1 nuiLsube+ud [ 25
P po 4219+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (5,125

-1 nui gbae+u4 [ 25
e, pO 4208+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVCEDCh)=(5, 12,9

T nu.yzze+ud [ 25
4215+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,13

- T inai ryze+ud [ 25
- pO 4198+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.37 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

A7 nun ssae+04 / 25
_- po 4194+ 0.0
o pl -34.05+ 0.00

- Ui Base+u4 [ 25
4211+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

T nuizplie+ud / 25
po 4242+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

T rnuiLbyle+u4 [ 25
pD 4201+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1nun Laze+u4 /25
o=, po 4197+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

- i gh/e+u4 / 25
4221+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

TinuiLy3e+ud [ 25
= po 4237+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (512,15

- T nai uze+ud [ 25
4206+ 0.0
-35.41+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

T sure+ud /25
o, pO 4292+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

- i b43e+04 / 25
4231+ 0.0
-36.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T rnuiLa41e+04 /25
[Foane PD 4270+ 0.0
pl -34.22 + 0.00

[ C=29.22 [ps/ch] ™,

0

1
50 100

TP delay [ns]

TVC(cbch) (513,12

T rnuiLpsbe+u4 / 25
- po 4236+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

A” 1 nus.ubbe+ud [ 25
e po 4284+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

=1 nui boye+ud [ 25
4219+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

Tinugib/e+ud /25
- po 4305+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (513,13

Tonan g sge+ud [ 25
- pO 4240+ 0.0
pl -35.31+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

A7 1 nuig.suie+u4 /25
e, po 4299+ 0.0
: pl -37.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- i ro4e+04 [ 25
po 4249+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

© 1z, zgbe+u4 | 25
- po 4317+ 0.0
[ pl -35.27 + 0.00

- C = 28.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

~ 1L pzse+u4 | 25
- pD 4245+ 0.0
| pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

AT 1z ro1e+ud [ 25
po 4310+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

- nui /31e+04 / 25
- pO 4261+ 0.0
pL -37.33+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 1

-1 nuiyyze+ud / 25
- pO 4321 0.0
-35.16 + 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

T nui pyse+ud / 25
- pO 4252+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T s, 140e+04 / 25
P oeea. pO 4241+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

=i, rgye+ud / 25
pO 4246+ 0.0
pl -36.22:+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T 1nug.343e+04 / 25
= po 4206+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (514,12

T3l e+u4 /25
- po 4287+ 0.0
pl -37.46 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

x- 1 us.4lae+ud | 25
po 4234+ 0.0
pL -35.65+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

=1 nuiL Bube+u4 / 25
- pO 4258+ 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

T inun 1 Use+us /25
= po 4237+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(cbch) (514,13

Tinuiz.zoe+ud [ 25
e, pO 4272+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,14,2)

[oeee,

- C = 28.06 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

- 1 nuiL yoye+ud / 25
- pO 4251 0.0
[ pl -35.92+ 0.00

A7 1 nuis44se+04 / 25
po 4244+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

T nuggore+ud [ 25
e, po 4239+ 0.0
o pl -34.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (5. 14,14

1z zose+u4 | 25
- pD 4262+ 0.0
L pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT rnusor4e+U4 1 25
— po 4237+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

- 11Uz ubse+u4 / 25
- pO 4279+ 0.0
pL -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (5 14,11

"1 nuiz.ysze+ud [ 25
= po 4238+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(cbch) (514,15

T nuiz 1ose+ud / 25
- pO 4265+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

© L ooze+u4 [ 25
Frcea pO 4200+ 0.0
pl -37.1£ 0.0

[ C =26.96 [ps/c ]

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

- 1 i 4p9e+04 / 25
E pO 4196+ 0.0
p1 -35.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

T a5 r4e+04 /25
pO 4224+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (5.15,12)

T g5 rse+u4 [ 25
pO 4225+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT rnuiL1ye+ud [ 25
Foase po 4186+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (5,155

~ 1 nui b4 e+u4 [ 25
pO 4206+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

T inup.741e+04 / 25
4248+ 0.0
-37.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

Tinuyu/le+ud /25
— pO 4225+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

1000

AT 1nun rsse+u4 /25
P po 4211+ 0.0
- pl -36.67 + 0.00

3000

Crnuan ze+u4 [ 25
- pO 4219+ 0.0
[ pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1000

0

T nuz139e+04 / 25
- po 4246+ 0.0
L pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 14

Tz ssre+ud [ 25
- pD 4234+ 0.0
L p1 -37.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1L BUse+u4 [ 25

po 4213+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

- nui b3/e+u4 / 25
- pO 4215+ 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

-1 nui yzye+ud [ 25
= po 4256+ 0.0
-36.4 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (515,15

T nuiz.azye+ud [ 25
= pO 4221+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nuiL guze+ud /25
e po 4151 0.0
p1 -34.06 + 0.00

TP delay [ns]

TVC(cbch) (60,4

- iU 8g3e+u4 [ 25
Faue po 4171+ 0.0
-34.03 + 0.00

[ C =29.38 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

92164041 25
P pD 4178+ 00
Pl 3598+ 000

TP delay [ns]

TVC(cbch) (6,0,12

- 1 nuizplye+ud [ 25
E po 4209+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

X 11z lbae+ud | 25
Fe po 4167+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- Ui a9se+ud | 25
Focse po 4182+ 0.0
pl -35.54 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 0,9

T naiLz33e+us / 25
P pO 4197+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T inug r3ye+ud [ 25
E. pO 4204+ 0.0
p1 -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1z 1z8e+04 [ 25
Fuee po 4172+ 0.0
[ p1 -34.93+ 0.00

T g2 oe+ud [ 25
4199+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

1000

- 1 1. 445e+U4 | 25
3 pO 4216+ 0.0
[ p1 -35.87+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

Tz, r44e+04 | 25
E. pD 4200+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A~ 1 nuizz3ye+ud | 25
Foe po 4186+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

= 1nu, f51e+04 [ 25
Fueee po 4205+ 0.0
pl -34.79 + 0.00

[ C =28.74 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

SRR b/de+l}4/25
£ po 4222+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
5}

- re+ud [ 25
4215+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

X~ 1z usbe+U4 [ 25
PO 4176 £ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (61,4

T 3.30e+04 /25
pO 4178+ 0.0
pl -34.25+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

©1nuizu4ge+u4 [ 25
- PD 4200+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (61,12

Tz, 1b4e+u4 [ 25
= PO 4200+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

S Zure+ud [ 25
v, PO 4196 £ 0.0
pl -37.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 U by4e+u4 [ 25
DU 4163+ 0.0
pL -35.28 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

~ 1 nuy.Usae+ud 25
DO 4233+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (61,13

Tz 1ive+ud [ 25
PO 4194 + 0.0
pl -35.53 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

X~ 1L ysie+u4 /25
[, po 4212 0.0
r pl -37.9 0.0

- C = 26.38 [ps/c ]

TP delay [ns]

TVC(cbch) (61,6

- u,602e+04 | 25
- pO 4199+ 0.0
r pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (6, 1 10

© a2 ygse+ud / 25
- DO 4246+ 0.0
3 Pl -3558+ 0.00

TP delay [ns]

TVC(cbch) (61,14

- 1l re+ud [ 25
- pD 4192+ 0.0
I pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A~ 1 nuiz,uvoe+u4 | 25
PO 4196+ 0.0
p1 -37.45+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- rnugore+u4 [ 25
= PO 4192+ 0.0
pL -34.78  0.00

TP delay [ns]

TVC(c,b ch) (6, l

aALVR s/ue+u4/25
- pO 4256+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (61,15

T 1uiz.uyze+u4 | 25
pO 4200+ 0.0
pl -35.68 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
X~z i rerud ] 25 X™ 1z dove+ud [ 25 X~ 1z Ssse+ud | 25 A™ 1z Go1e+ud [ 25

4000, po 4201 0.0 R PO 4212+ 00 4000 F PO 4211 0.0 4000R PO 4214+ 00
Pl -37.46+ 0.00 Pl -36.070.00 3 Pl -3543%0.00 pl -36.5+ 0.0

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

ool C = 28.23 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

-1z 4p8e+04 / 25 T rnun z.4ne+04 | 25 - rnug311e+u4 / 25 -1 nug 1bbe+u4 / 25
4000 pO 42164 0.0 4000 | pO 4221+ 0.0 4000 [, pD 4236+ 0.0 4000 pO 4250+ 0.0
pl -35.92+ 0.00 pl -36.19 0.00 - pl -35.79+ 0.00 pl -36.25+ 0.00

3000 - -1 3000 -1 3000 [~ - 3000 -

2000~ - 2000 -1 2000 - 2000 -

1000 C E 1000 E 1000~ C=27.94 [pS/Ch 7 1000 E

- [ . ]
- -
I o . L=
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,2,8) TVC(e.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 11)
Tnunz.3ve+u4 /25 <y gvse+u4 [ 25 T rnuz.yyle+ud / 25 T r11e+04 [ 25
4000 fome, pO 4222+ 0.0 4000 fae, pO 4265+ 0.0 4000 fome, DO 4266+ 0.0 4000 fs p0 4278+ 0.0
Pl 3503 0.00 Pl -37.08% 000 [ PL_ -35.92% 0.00 Pl -36.84: 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,2, 12 TVC(C, bch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (62,15

~1nuiz.4uze+u4 | 25 T nug szee+ud [ 25 Tz s /e+u4 /25 T nuiz zgae+ud [ 25
4000 o, po 4214 0.0 4000 po 4240+ 0.0 4000 o, pD 4226+ 0.0 4000 [ pO 4245+ 0.0
pl -34.94+ 0.00 pl -36.63+ 0.00 F pl -35.38+ 0.00 pl -35.8+ 0.0

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 2000 - 2000

1000 1000 1000 e 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

K- 1nui rs1e+04 /25
o po 4198+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

- rnuz 1u8e+u4 / 25
- pO 4231 0.0
p1 -37.52:+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

-z bose+ud 1 25
- po 4237+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6,312

1z, sse+u4 | 25
pO 4237+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31)

“row srerud ] 25
F.. pO 4203+ 0.0
pL -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- nuz311e+u4 [ 25
oe.e pO 4234+ 0.0
p1 -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

1 nuiLy4ye+us / 25
- pO 4254+ 0.0
p1 -35.48 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

Tinusrze+ud [ 25
- pO 4224+ 0.0
p1 -35.09+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (6,3,2)

TP delay [ns]

TVC(cbch) (63,6

X~ 1L B18e+u4 [ 25
F... po 4215+ 0.0
[ p1 -36.77+ 0.00

3000

-1z 300e+04 / 25
- pO 4239+ 0.0
[ pl -36.19+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 3, 10

©1nuig.4z4e+04 | 25
- po 4284+ 0.0
[ p1 -35.94 % 0.00

TP delay [ns]

TVC(c,b Ch) (6, 3 14

1000

- z4se+ud | 25
- pD 4227+ 0.0
[ pL -36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

A1 nuiLYsie+ud [ 25
- po 4218+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

- nu 3z4e+04 [ 25
- pO 4249+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T, /b=e+u4/25
- pO 4263+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

-1 nuiz.qo8e+u4 / 25
e pO 4244+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

K™ 1 nui ozoe+ud / 25
- po 4200+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (64,4

[ C =29.32 [ps/ch]

- uiLa1 re+04 ] 25
P, pO 4188+ 0.0
-34.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

1L yoze+u4 | 25
= pO 4191+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (64,12

rnu 1 pe+ud /25
4224+ 0.0
-33.61+ 0.00

[C=29.75[ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuLyzoe+ud [ 25
P, po 4179+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

- nui 3rye+u4 [ 25
- pO 4186+ 0.0
p1 -34.87+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T inug.Us/e+ud [ 25
= po 4210+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(C, bch) (64,13

~ 1 nuiL poye+ud / 25
4222+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

TP delay [ns]

TVC(cbch) (64,6

A~ 1 nuioooe+u4 / 25
_- po 4193+ 0.0
o pl -36.18+ 0.00

3000

-1 i b40e+04 / 25
e pO 4191 0.0
[ pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

T rnuiLu4le+ud [ 25
__ DO 4242+ 0.0
- pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (64,14

1 nuiL49pe+u4 / 25
- pD 4230+ 0.0
L pl -33.74+ 0.00

- C = 29.64 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L roze+u4 [ 25
.. po 4208+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui byze+u4 [ 25
- pO 4202+ 0.0
p1 -34.91% 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T 41/e+u4/25
== 4228+ 0.0
-33.89+ 0.00

[ C =29.50 [ps/ch] §

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

Tnai zse+ud [ 25
4227+ 0.0
-34.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nuiLgute+ud [ 25
o po 4205+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.24 [ps/ch]

- 11y za4e+04 | 25
o, po 4200+ 0.0
pl -34.19 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

©1nuz.40ze+04 | 25
= po 4219+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (65,12

Trnuizgrze+04 /25
= po 4229+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT 1 nuiL fo3e+u4 [ 25
e po 4216+ 0.0
p1 -35.69 + 0.00

50 10'0
TP delay [ns]
TVC(c,b ch) (6 55)
-1y zeze+ud | 25
=, 4197+ 0.0
-34.03:;‘
- - =
[ C=29.39 [ps/ch]™,_ ]
L 1 "
50 100
TP delay [ns]

TVC(c,b ch) (6 59

-1 nui.4npe+u4 [ 25
po 4216+ 0.0
p1 -35.26 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tinuzsie+ud /25
pO 4251+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6.52)

T Lze+ud /25
pO 4228+ 0.0
p1 -36.49+ 0.00

TP delay [ns]

TVC(cbch) (6,56

- C = 29.28 [ps/ch]

- 1nug,bz4e+04 | 25
fo, pO 4211+ 0.0
- pl -34.15+ 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

- 120 re+04 | 25
- pO 4245 0.0
[ p1 -35.68:+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

-1z 538e+04 [ 25
. pD 4224+ 0.0
[ pl -35.15+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiLoBse+u4 [ 25
- po 4213+ 0.0
pL -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

= 1nug O73e+ud | 25
= po 4213+ 0.0
p1 -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

EALER yaze+u4/25
= po 4250+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

-1 ssve+ud [ 25
- pO 4238+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

AT 1nuisz1e+04 /25
po 4200+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- i 131e+04 / 25
e, pO 4185+ 0.0
pl -35.02:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

1nuiz.409e+04 | 25
po 4220+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

~rnuizuive+ud | 25
pO 4236+ 0.0
pl -35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT 1 nunruve+ud [ 25
- po 4210+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nuiL y3ze+u4d / 25
pO 4210 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

T inaiuz/e+us / 25
po 4251+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

T nuiLyloe+ud / 25
pO 4229+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

AT 1nuLyrze+u4 /25
po 4205+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (66,6

-1 nunLy3be+u4 / 25
pO 4198+ 0.0
pl -35.49+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (6, 6 10

1000

©1nuizysze+u4 | 25
po 4262+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (6,6,14

TrnuiLgse+u4 [ 25
pD 4226+ 0.0
pl -35.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT rnuiLBsle+ud [ 25
po 4218+ 0.0
p1 -35.42+ 0.00

C =28.23 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

“rnuan 1.94e+04 [ 25
pO 4210+ 0.0
pL -35.92:+ 0.00

TVC(c,b ch) (6, 6

50 1(;0
TP delay [ns]

T, /aze+u4/25
pO 4259+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

<1 nui oooe+ud / 25
po 4241% 0.0
p1 -36.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1w osse+U4 [ 25

Froeea po 4189+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

- 1 i bobe+ud / 25
E pO 4201% 0.0
p1 -34.73 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

T lo/e+u4 /25
- po 4210+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,7,12

T zze+ud | 25
= po 4257+ 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT rnunL g rse+ud [ 25
s po 4213+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nuz.Uzbe+u4d [ 25
4213+ 0.0
-35.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 7,9

<1 nuiL Uzbe+us / 25
= pO 4229+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

~ 1 nuiz.ugbe+ud / 25
4251+ 0.0
-37.21+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

e, po

A7 nun szae+04 /25
4219+ 0.0

TP delay [ns]

TVC(cbch) (67,6

p1 -36.24 + 0.00

- rnuz.293e+04 [ 25
- pO 4220+ 0.0
[ pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

Tz pe+u4 | 25
- po 4254+ 0.0
o pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

T 1nuig.z45e+04 | 25
- pD 4255+ 0.0
L pl -36.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1L rsye+ud [ 25
- po 4218+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

“nu 3/0e+u4 / 25
- pO 4220+ 0.0
p1 -34.51% 0.00

[ C =28.98 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T z//e+u4/25
= po 4263+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(C, bch) (67,15

T nanzuse+ud [ 25
- pO 4265+ 0.0
p1 -36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

AT szze+04 /25
- po 4185+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,84

- L az1e+04 ] 25
o, pO 4271 0.0
pl -38.92:+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

i poze+u4 / 25
- pO 4214+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T rnuiLgzoe+u4 / 25
= po 4224+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT rnuo1se+ud [ 25
Foase po 4183+ 0.0
pl -34.76 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- 1nu 145e+04 / 25
- pO 4254+ 0.0
pL -37.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nui, 7bge+ud / 25
==, 4223+ 0.0
-34.59 + 0.00

[ C =28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (6,813

T naizyse+ud [ 25
= pO 4236+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.53 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A7 nug ssae+04 / 25
P, po 4207+ 0.0
- pl -35.05+ 0.00

-1 nuiL 4p9e+04 / 25
- pO 4266+ 0.0
[ pl -38.22+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

1 nuzgobe+u4 | 25
. po 4256+ 0.0
- pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (6,8, 14

T rnuiLp4e+u4 [ 25
4224+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

C pO
pl

T z.soe+ud [ 25
4210+ 0.0
-35.76 + 0.00

TVC(c,b ch) (6 8,7

p==. pO
pl

1
100

TP delay [ns]

- 11U .0Use+u4 / 25
4285+ 0.0
-37.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

EEALEVX usze+u4/25
4262+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

T nai r8ye+ud [ 25
4233+ 0.0
-35.16 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A7 nuig 1soe+u4 /25
Focea po 4216+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (69,4

- 1 nuz,0a4e+04 / 25
[oana PO 4239+ 0.0
pl -35.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

T zo/e+u4 /25
- po 4223+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,9,12

~ i buze+u4 / 25
= po 4240+ 0.0
-34.12+ 0.00

[ C =29.31 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1)

T 1yve+ud [ 25
Fraee pO 4221+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

S a0/ re+u4 [ 25
pO 4252+ 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

-1 nuw.ogYe+u4 / 25
- po 4235+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,13

Inur 1be+ud [ 25
4237+ 0.0
-35.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

A7 1 nuz usze+ud [ 25
_-_ po 4239+ 0.0
- pl -37.7+ 0.0
L -

3000

- C = 26.52 [pslc .

1
50 100

TP delay [ns]

TVC(cbch) (69,6

“rnuziz1e+04 [ 25
- pO 4261+ 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

1000

T a2 ysse+ud | 25
-, po 4262+ 0.0
- pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

T glse+u4 / 25
. pD 4251+ 0.0
L pl -36.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT 1 nuzzose+ud [ 25
o= po 4244+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

=1 nui Yyve+u4 / 25
- pO 4277+ 0.0
-36.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T Mbe+u4/25
- pO 4274+ 0.0
p1 -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (69,15

T inuiLoroe+ud [ 25
- pO 4260+ 0.0
p1 -36.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T, e+l [ 25
pO 4207+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

i 2 ge+ud [ 25
Facee po 4216+ 0.0
pl -36.84 + 0.00

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 10,8

T L, r3ve+u4 | 25
= pO 4221+ 0.0
p1 37+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 10 12)

1 nuizus3e+ud [ 25
= po 4230+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

X- 1L Zag+04 [ 25
o po 4209 0.0
pL -36.2:+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 10 5

- 1nuiL vy se+ud / 25
- pO 4220 0.0
-36.3+ 0.0

50 150
TP delay [ns]

TVC(eb.oh)=(6, 10,9

~ 1 nui v4se+ud [ 25
- pO 4224+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 13

-z 144e+04 [ 25
pO 4230+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

A- 1wz ave+u4 | 25
F. po 4221+ 0.0
- pl -36.39+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 10 6

T a8y e+u4 | 25
- pO 4228+ 0.0
- -36.9+ 0.0

TP delay [ns]

TVC(cbch) (6, 10, 10)

1000

0

-1z b17e+U4 [ 25
- pO 4250+ 0.0
[ pL -37.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14)

-1z 9e+u4 [ 25
- pD 4232+ 0.0
[ pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

A 1L save+ud [ 25
Fee, po 4215+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 10 7

- inuz12ze+04 | 25
= po 4233+ 0.0
pl -36.44 + 0.00

50 160
TP delay [ns]

TVC(Cbch) (6, 10 11

T nuiz 113e+u4 / 25
- pO 4263+ 0.0
p1 -37.18+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 15

Sz 3e+ud [ 25
e, pO 4239 0.0
p1 -35.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

o po

pl

AT 1nug zioe+04 /25
4225+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (6,11,4

TVC(Cbch) (6,11,1)

AT 1z suse+ud [ 25

4000 =

3000 |-

2000

po
pL

4223+ 0.0
-34.53+ 0.00
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pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

- u,635e+04 / 25
e, pO 4187+ 0.0
p1 -35.34 + 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

1nuz 3ove+u4 | 25
PD 4233+ 0.0
p1 -37.54+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T Lgse+ud /25
pO 4215+ 0.0
pl -36.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,21

AT 1 nuLozze+ud [ 25
Foase po 4191+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

“nubo/e+ud /25
[, DO 4206+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

Tanung.z1e+04 25
= po 4238+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

T 1 nuiz.104e+u4 / 25
pO 4212+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A~ inuir4/e+04 /25
o po 4199+ 0.0
L pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

-1 nuz,0uze+u4 [ 25
e pO 4189+ 0.0
[ pl -34.59+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T z4ne+04 /25
- po 4254+ 0.0
- pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

T 1se+u4 [ 25
pD 4225+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (7,2,3

4000 &

3000

2000

1000

AT rnuiLbrye+ud [ 25
- po 4213+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

4000 (S

3000

2000

1000 [~

S nu 33e+04 / 25
pO 4212+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

4000 [u.

3000

2000

1000

T za5e+u4/25
pO 4260+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

4000 [,

3000

2000

1000

Tonanz.34e+04 1 25
pO 4230+ 0.0
-35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

K™ 1 nuiLyyse+ud / 25
P po 4185+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- 1L ysye+ud / 25
[, PO 4178+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©1nuz, looe+u4 / 25
po 4194+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T L yaze+u4 | 25
pO 4215+ 0.0
pl -36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

X~ 1 i doae+ud | 25
s po 4195+ 0.0
pL -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nui y1ge+u4 / 25
e, DU 4188+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

T fore+u4 | 25
4214+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.3,13

Tona L yse+ud [ 25
== pO 4206+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

1000

0

TVC(cbch) (7,3,2)

K™ 1 nuz.usye+ud / 25
po 4201+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (73,6

- rnuiLgyle+ud / 25
pO 4193+ 0.0
pl -35.94+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (7, 3 10

©1nuzgoae+u4 | 25
po 4232+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (7.3 14

© 1L gsse+U4 / 25
4211+ 0.0
-36.11 + 0.00

P
100

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.3,3)

AT 1z, 130e+u4 [ 25
po 4201+ 0.0
pl -36.53+ 0.00

TVC(c,b ch) (7 3,7

1
100

TP delay [ns]

-1 nui Yyze+u4 / 25
pO 4197 0.0
p1 -35.43+ 0.00

1(;0
TP delay [ns]

TVC(eho=(7,3, 11

"~ nuiz.a4ae+04 / 25
po 4240+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

Tonanzuse+ud [ 25
po 4223+ 0.0
p1 -35.99+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1 g

sule+u4 /25
4189+ 0.0
-35.97 + 0.00

TP delay [ns]

TVC(cbch) (7,4,4

118e+U4 / 25
4212+ 0.0
-35.79+ 0.00

= po, o,
pl
- C -
% o
TP delay [ns]
TVC(c,b ch) (7, 4 8

pD
pl

.311e+u4 [ 25
4213+ 0.0
-34.96 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

T rnuz531e+u4 /25
4218+ 0.0
-36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,4,1)

e, po

pl

AT 1 nuz.sooe+ud [ 25
4185+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

S nu1y1e+ud /25
4215+ 0.0
-35.39 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

pl

-1 nub.o3be+u4 / 25
4233+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

T inugsse+ud [ 25
4225+ 0.0
-35.48 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

1000

TVC(cbch) (7,4,2)

[rease po

pl

A~ 1nugozie+ud /25
4192+ 0.0
-35.97 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
pl

-1z z30e+u4 [ 25
4226+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

©1nug boze+u4 | 25
4249+ 0.0
-34.83 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

T, 345e+04 [ 25
4213+ 0.0
pl -35.83 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,4,

A1
= pO
pl

3

nuiz,3yve+u4 / 25
4197+ 0.0
-35.66 + 0.00

TVC(c,b ch) (7 4,7

-
pO
pl

1
100

TP delay [ns]

nuz.4uye+u4 / 25
4233+ 0.0
-36.97 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
T nuguzie+ud / 25
4251+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7,4,

X1

15

nuiz,babe+u4 / 25
4235+ 0.0
-37.1+ 0.0

1
100

TP delay [ns]



4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0)

T rse+ud /25
- pO 4187+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,54

-1 nuiL bs4e+ud | 25
e, pO 4189+ 0.0
p1 -34.58:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

Tz 3ule+u4 / 25
po 4206+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

T rnuizuroe+u4 [ 25
pO 4238+ 0.0
pl -36.61+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

x- 1 i sae+ud | 25
Frase po 4193+ 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui B41e+u4 / 25
e, pO 4210+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

<1 nui 1sbe+ud / 25
= po 4219+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

T nui ygse+ud [ 25
= pO 4239+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

TP delay [ns]

TVC(cbch) (7,56

XL se+u4 /25
Fuu po 4212+ 0.0
o pl -35.91+ 0.00

3000

T rnuiL 7 (9e+u4 [ 25
E. pO 4206+ 0.0
[ pl -35.06 + 0.00

- C = 28.52 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T nugs1se+u4 / 25
. po 4238+ 0.0
- pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (7,5,14

T 1nuizyole+ud / 25
. pD 4242+ 0.0
L pl -37.22+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT Loy re+ud [ 25
P s po 4218+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- nui grye+u4d / 25
- pO 4217+ 0.0
pL -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

AL db/e+U4/25
- pO 4241% 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nui gyse+ud [ 25
e pO 4227+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

0P C=29.37 [psich]™, 1
0 5;) 10'0 -

4000

3000

2000

1000

TVC(cbch) (7,6,0

A7 1 nui gsae+u4 [ 25
. po 4227+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

T rnuzis1e+ud / 25
Fraese. pO 4207+ 0.0
p1 -35.44  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6,8

T rnuzpsse+ud | 25
= po 4189+ 0.0
-34.05+ 0.00

TP delay [ns]

TVC(cbch) (7,6,12

~rnuiLuzse+us / 25
= po 4202+ 0.0
pl -32.51+ 0.00

[ C =30.76 [ps/ch] ™= ]

PR B SRS |
50 100

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT rnuLylye+ud [ 25
P oaee po 4230+ 0.0
p1 -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

S nu38/e+u4 /25
[Fomes, pO 4225+ 0.0
pL -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

~ 1 nuy.Usae+ud / 25
- pO 4224+ 0.0
pl -35.19 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,13

T inuioz/e+ud [ 25
= pO 4236+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

A7 1nui rsae+04 /25
-_ po 4224+ 0.0
- pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- rnugbzye+u4 [ 25
pe. pO 4239+ 0.0
[ Pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

T nuig.41ze+04 /25
3 4249+ 0.0
L -35.9 + 0.0

TP delay [ns]

TVC(cbch) (7.6,14

1000

T rnuiLyive+ud / 25
DD 4249+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

AT 1 nuiz,uzae+u4 [ 25
4000 = po 4241+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

- Zbe+ud 25
4000 s pO 4252+ 0.0
pl -36.68+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 6

4000 [u.

3000

2000

1000

AR bme+u4/25
po 4236+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 e

3000

2000

1000

T nuiz.a4ae+04 /25
po 4241% 0.0
-35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

K™ 1nuioiye+ud /25
o, po 4206+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (77,4

-1 nuiLas4e+04 / 25
F po 4204+ 0.0
pl -34.91+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

©1nuz530e+u4 [ 25
= po 4217+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

Tz 19ze+04 | 25
4223+ 0.0
-37.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

AT 1 muLo1oe+ud /25
e po 4219+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

- 1 nuiL dose+ud / 25
F po 4215+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

<1 nup.1bse+ud / 25
= po 4233+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

T inuiz 13ve+ud [ 25
- pO 4222+ 0.0
pl -37.75+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (7,7,2)

- C = 28.47 [psich

T Lore+ud /25
P, pO 4218+ 0.0
- pl -35.12+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

- rnurL, 7use+u4 [ 25
pO 4233 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

Tz zzge+04 | 25
4241+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(cbch) (7,7,14

T z.se+u4 /25
- pD 4220+ 0.0
- pl -36.79+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

FSRALTEN

- PO
pl

bre+ud /25
4223+ 0.0
-35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

-1 nun gzee+u4 / 25
4236+ 0.0
-35.92+ 0.00

TP delay [ns]

TVC(cbch) (7, 7 11

= pO
pl

-1 nuiLy4ae+04 / 25
4252+ 0.0
-36.01+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

Tinuizi/e+ud /25
4222+ 0.0
-37.22+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A7 1 nuzguse+ud / 25
po 4163+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (7,84

Tz 3p1e+04 / 25
e, pO 4180+ 0.0
p1 -35.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

T nuig,3ose+u4 / 25
[, PD 4196+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7,812

T z.39e+u4 /25
= po 4208+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1

AT 1 nuzlole+ud [ 25
s po 4178+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

- 1. O18e+u4 / 25
o, DU 4187+ 0.0
pl -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,9

~ 1 nuyzze+ud [ 25
po 4218+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

T 1 nuiz.a4ae+04 /25
E pO 4215+ 0.0
pl -38.16 + 0.00

N PR Y
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (7,8,2)

TP delay [ns]

TVC(cbch) (78,6

Tnanz1re+ud [ 25
Foese pO 4178+ 0.0
L pl -35.45+ 0.00

3000

- rnuz203e+04 [ 25
Frcee po 4193+ 0.0
[ pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

1 nuig.4upe+U4 / 25
P po 4203+ 0.0
L -33.6 + 0.0

F C = 29.76 [ps/ch]

o 1
0 50 100

TP delay [ns]

TVC(cbch) (7,814

Tz 530e+u4 [ 25
= pD 4227+ 0.0
[ p1 -38.38+ 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3

AT 1 nuiLyyoe+ud [ 25
P s po 4178+ 0.0
p1 -34.83 + 0.00

[ C=28.71[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 8,7

~1nu.44/e+04 / 25
pO 4205+ 0.0
pL -36.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 8

AL sb::e+u4/25
= po 4205+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(C, bch) (7.8,15

T 1nuiz s4ae+04 / 25
- po 4226+ 0.0
p1 -37.78 + 0.00

TP delay [ns]
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TVC(cbch) (7,9,0)

- pO

pl

T zave+ud /25
4178+ 0.0
-39.13+ 0.00

TP delay [ns]

TVC(cbch) (7,9,4

.Y9re+u4 | 25
4186+ 0.0
-37.1+ 0.0

F_ po/“uIl
p1
[ C =26.96 [ps/c

1
50 100

TP delay [ns]

TVC(cbch) (7 9,8

T rnuzbE3e+u4 [ 25
4191+ 0.0
-34.73+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

B pO

p1

Tz si4e+04 / 25
4203+ 0.0
-35.04 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (7,9,1)

P PO

p1

AT 1 nuiLbsze+ud [ 25
4178+ 0.0
-36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

- nuiLgroe+u4 [ 25
4194+ 0.0
-36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

-1 nuiL Ugae+us / 25
4228+ 0.0
-35.59 + 0.00

TP delay [ns]
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